	FO	R BHF	USE		

LL1

### 2019 STATE OF ILLINOIS DEPARTMENT OF HEALTHCARE AND FAMILY SERVICES FINANCIAL AND STATISTICAL REPORT (COST REPORT) FOR LONG-TERM CARE FACILITIES (FISCAL YEAR 2019)

#### IMPORTANT NOTICE

THIS AGENCY IS REQUESTING DISCLOSURE OF INFORMATION THAT IS NECESSARY TO ACCOMPLISH THE STATUTORY PURPOSE AS OUTLINED IN 210 ILCS 45/3-208. DISCLOSURE OF THIS INFORMATION IS MANDATORY. FAILURE TO PROVIDE ANY INFORMATION ON OR BEFORE THE DUE DATE WILL RESULT IN CESSATION OF PROGRAM PAYMENTS. THIS FORM HAS BEEN APPROVED BY THE FORMS MANAGEMENT CENTER.

	OPH License ID Number: 0052035  ncility Name: BRIA OF FOREST EDGE		II. CERTI	FICATION BY AUTHORIZED FACILITY OFFICER
A	ddress: 8001 S. WESTERN AVE. CHICAGO Number City	60620 Zip Code	State o and cer are true	re examined the contents of the accompanying report to the fillinois, for the period from 1/1/2019 to 12/31/2019  rtify to the best of my knowledge and belief that the said contents e, accurate and complete statements in accordance with
Т	COOK elephone Number: (847 ) 674-5795 Fax # (847 ) 674-5794  FS ID Number:		is base	ble instructions. Declaration of preparer (other than provider) d on all information of which preparer has any knowledge. ntional misrepresentation or falsification of any information cost report may be punishable by fine and/or imprisonment.
D	ate of Initial License for Current Owners: 11/1/12		Officer or	(Signed)(Date)
T	ype of Ownership:		Administrator	(Type or Print Name) AVRUM WEINFELD
	VOLUNTARY, NON-PROFIT X PROPRIETARY	GOVERNMENTAL	of Provider	(Title) <u>CEO</u>
	Charitable Corp. Individual Trust Partnership	State County		(Signed) (SEE ATTACHED ACCOUNTANTS' REPORT)
11	S Exemption Code Corporation "Sub-S" Corp.	Other	Paid	(Print Name KATHLEEN MCNAMARA
	X Limited Liability Co.  Trust		Preparer	and Title) VICE-PRESIDENT
	Other			(Firm Name KBKB, LTD 8140 RIVER DRIVE, MORTON GROVE, IL 60053
				(Telephone) (847) 675-3585 Fax # (847) 675-5777
	the event there are further questions about this report, please contact:  ame: KATHLEEN MCNAMARA  Telephone Number: (847) 675 Email Address:	-3585		MAIL TO: BUREAU OF HEALTH FINANCE ILLINOIS DEPT OF HEALTHCARE AND FAMILY SERVICES 201 S. Grand Avenue East Springfield, IL 62763-0001 Phone # (217) 782-1630

Faci	lity Name & ID Numb	ber BRIA OF FO	REST EDGE				# 0052035 Report Period Beginning: 1/1/2019 Ending: 12/31/2019
	III. STATISTICA	AL DATA					D. How many bed reserve days during this year were paid by the Department?
	A. Licensure/	certification level(s) of	care; enter number	of beds/bed days,			(Do not include bed reserve days in Section B.)
		with license). Date of	*	• ,			<u> </u>
	( 8	,	8	_		_	E. List all services provided by your facility for non-patients.
	1	2		3	4		(E.g., day care, "meals on wheels", outpatient therapy)
	1				<u> </u>		NONE
	Beds at				Licensed		TOTE
	Beginning of	Licensu	ro.	Beds at End of	Bed Days During		F. Does the facility maintain a daily midnight census? YES
	Report Period	Level of	-	Report Period	Report Period		r. Does the facility maintain a daily initing it census:
	Report Periou	Level of	care	Report Periou	Keport Periou		
	210	CLAN I (CMI	7).	210	<b>50.550</b>		G. Do pages 3 & 4 include expenses for services or
1	218	\	/	218	79,570	1	investments not directly related to patient care?  YES  NO  X
3	110		atric (SNF/PED)	110	40.150	2	YES NO X
	110			110	40,150	3	H. D. Al. DALANCE CHEET, (17) C. A.
5		Intermediat Sheltered C				5	H. Does the BALANCE SHEET (page 17) reflect any non-care assets?  YES  NO  X
6		ICF/DD 16	· · ·			6	TES NO A
U		ICF/DD 10 (	or Less			10	I. On what date did you start providing long term care at this location?
7	328	TOTALS		328	119,720	7	Date started 11/1/12
	320	TOTALS		320	117,720		
							J. Was the facility purchased or leased after January 1, 1978?
	B. Census-For	r the entire report per	iod.				YES Date 11/1/12 NO
	1	2	3	4	5		
	Level of Care	Patient Days	•	d Primary Source of	_		K. Was the facility certified for Medicare during the reporting year?
	Level of Care	Medicaid	by Ecvel of Care and			1	YES X NO If YES, enter number
		Recipient	Private Pay	Other	Total		of beds certified 112 and days of care provided 4,209
8	SNF	recipient	111vace 1 ay	4,209	4,209	8	dra days of care provided
	SNF/PED			1,20	1,20	9	Medicare Intermediary NATIONAL GOVERNMENT SERVICE
	ICF	90,192	13		90,205	10	interior interimentally and the solution in th
11	ICF/DD	70,172	10		70,203	11	IV. ACCOUNTING BASIS
	SC					12	MODIFIED
	DD 16 OR LESS					13	ACCRUAL X CASH* CASH*
14	TOTALS	90,192	13	4,209	94,414	14	Is your fiscal year identical to your tax year? YES X NO
	C Domoont Oo	ccupancy. (Column 5, 1	ling 14 divided by to	tal ligansad			Tax Year: 12/31/2019 Fiscal Year: 12/31/2019
		n line 7, column 4.)	78.86%	tai neensed			* All facilities other than governmental must report on the accrual basis.
	Sea days of		70.0070	_			The mental of the man government must report on the neer and sustain

	Facility Name & ID Number	BRIA OF FORI			STATE OF ILI #	LINOIS 0052035	Report Period	Beginning:	1/1/2019	Ending:	Page 3 12/31/2019	_
	V. COST CENTER EXPENSES (through	phout the report,	please round to	the nearest do	llar)	D 1		A 1° /	A 10 ( 1 1	EOD DIII	LICE ONLY	
			osts Per Genera		TD 4 1	Reclass-	Reclassified	Adjust-	Adjusted	FOR BHI	F USE ONLY	
	Operating Expenses	Salary/Wage	Supplies	Other	Total	ification -	Total	ments	Total	•	4.0	
	A. General Services	1	2	3	4	5	6	7	8	9	10	
1	Dietary		12.000	1,378,753	1,378,753		1,378,753	(210)	1,378,753			1
2	Food Purchase		13,888	(00.045	13,888		13,888	(649)	13,239			2
3	Housekeeping		3,685	639,247	642,932		642,932		642,932			3
4	Laundry		35,500	427,414	462,914		462,914		462,914			4
5	Heat and Other Utilities			443,338	443,338		443,338	158	443,496			5
6	Maintenance	143,181	59,886	178,078	381,145		381,145	2,184	383,329			6
7	Other (specify):*	385,576		65,646	451,222		451,222	341	451,563			7
8	<b>TOTAL General Services</b>	528,757	112,959	3,132,476	3,774,192		3,774,192	2,034	3,776,226			8
	B. Health Care and Programs											
9	Medical Director			30,000	30,000		30,000		30,000			9
10	Nursing and Medical Records	5,122,876	187,077	26,033	5,335,986		5,335,986	73,798	5,409,784			10
10a	Therapy		·	76,489	76,489		76,489	·	76,489			10a
11	Activities	241,449	3,473	352	245,274		245,274		245,274			11
12	Social Services	409,965	4,946	512	415,423		415,423		415,423			12
13	CNA Training	,			,		,		•			13
14	Program Transportation			9,475	9,475		9,475		9,475			14
15	Other (specify):*			,	,		,		,		-	15
16	TOTAL Health Care and Programs	5,774,290	195,496	142,861	6,112,647		6,112,647	73,798	6,186,445			16
	C. General Administration			, i								
17	Administrative	194,612		860,500	1,055,112		1,055,112	(849,500)	205,612			17
18	Directors Fees			,	, ,			, , ,	•			18
19	Professional Services			534,318	534,318		534,318	20,014	554,332			19
20	Dues, Fees, Subscriptions & Promotions			85,748	85,748		85,748	(31,456)	54,292			20
21	Clerical & General Office Expenses	402,964	30,496	275,938	709,398		709,398	(47,312)	662,086			21
22	Employee Benefits & Payroll Taxes			1,004,066	1,004,066		1,004,066		1,004,066		†	22
23	Inservice Training & Education			26,093	26,093		26,093	2,308	28,401		<u> </u>	23
24	Travel and Seminar			11,236	11,236		11,236	9,573	20,809			24
25	Other Admin. Staff Transportation			,	,		,	(1,963)	(1,963)		<del>                                     </del>	25
26	Insurance-Prop.Liab.Malpractice			357,212	357,212		357,212	51,149	408,361		<u> </u>	26
27	Other (specify):*			268,215	268,215		268,215	(221,695)	46,520			27
28	TOTAL General Administration	597,576	30,496	3,423,326	4,051,398		4,051,398	(1,068,882)	2,982,516			28
29	TOTAL Operating Expense (sum of lines 8, 16 & 28)	6,900,623	338,951	6,698,663	13,938,237		13,938,237	(993,050)	12,945,187			29

\*Attach a schedule if more than one type of cost is included on this line, or if the total exceeds \$1000.

NOTE: Include a separate schedule detailing the reclassifications made in column 5. Be sure to include a detailed explanation of each reclassification.

V.COST CENTER EXP	ENSES PAG	E 3 COLUMN 3 OTH	IER					
	SCH	ED REF	TOTAL	LIN	NE	SCHED REF		TC
DIETARY				10	NURSING			
DIETITIAN CONSUL	TANT XVIII	B 35-2 0	1		CONTRACT NURSING	XVIII C 53-2		
REPAIRS & MAINTE	VANCE	0			LABORATORY & XRAY EXPENSE		0	
CONTRACTED DIET	ARY SERVICES	1,378,753	1		PURCHASED SERVICES		0	
			1,378,753		PSYCHO-SOCIAL CONSULTANT	XVIII B2	0	
HOUSEKEEPING			•		RESTORATIVE NURSING CONSULTANT	XVIII B 38-2	6,000	
CONTRACTED HOUS	SEKKEEPING SERVICES	639,247			MEDICAL RECORDS CONSULTANT	XVIII B 37-2	0	
			639,247		PHARMACY CONSULTANT	XVIII B 39-2	20,033	
LAUNDRY			•		UTILIZATION REVIEW FEES	XVIII B2	0	
EQUIPMENT REPAIR	RS & MAINTENANCE	1,249			PHYSICIANS	XVIII B2	0	
CONTRACTED LAUN	IDRY SERVICES	426,165	1		PSYCHIATRIC	XVIII B2	0	
			427,414		RN CONSULTANT	XVIII B 38-2	0	
<b>HEAT &amp; OTHER UTILI</b>	TIES		_					
GAS HEAT		98,023						
ELECTRICITY		158,577						
WATER		185,026	1					
CABLE TV - LOBBY		1,712		10a	THERAPY			
			443,338		PHYSICAL THERAPY SERVICES		0	
MAINTENANCE					SPEECH THERAPY SERVICES		0	
GROUNDS MAINTEN	IANCE	5,643			OCCUPATIONAL THERAPY SERVICES		0	
PAINTING & DECOR	ATING	0			REHABILITATION CONSULTANT	XVIII B2	0	
BUILDING REPAIRS		0			PHYSICAL THERAPY CONSULTANT	XVIII B 40-2	29,240	
MAINTENANCE TRA	VEL	0			OCCUPATIONAL THERAPY CONSULTANT	XVIII B 41-2	33,823	
EQUIPMENT MAINTI	ENANCE & REPAIR	4,379			RESPIRATORY THERAPY CONSULTANT	XVIII B 42-2	6,054	
ELEVATOR MAINTE	NANCE & REPAIR	0			SPEECH THERAPY CONSULTANT	XVIII B 43-2	7,372	
OUTSIDE LABOR		126,754						
EXTERMINATING SE	RVICE	0						
FIRE SERVICE		41,302						
			1	11	ACTIVITIES			
			1		CABLE TV - PATIENT ROOMS		0	
					ACTIVITY REHAB CONSULTANT	XVIII B 44-2	352	
			178,078					
OTHER				12	SOCIAL SERVICES			
SCAVENGER		65,646	1		SOCIAL REHABILITATION SERVICES		0	
SECURITY SERVICE		0	1		SOCIAL REHABILITATION CONSULTANT	XVIII B 45-2	512	
			<u> </u>		SOCIAL WORKER	XVIII B 45-2	0	
			65,646					
MEDICAL DIRECTOR				13	NURSE AIDE TRAINING			

	V.COST CENTER EXPENSES	PAGE 3 COL	UMN 3 OTHE	R					
		SCHED REF		TOTAL	LINE		SCHED REF		TOTAL
.	PROGRAM TRANSPORTATION				22	EMPLOYEE BENEFITS & PAYROLL TAXES			
	PATIENT TRANSPORTATION		9,475			FICA TAXES	XIX D	523,658	
				9,475		UNEMPLOYMENT COMPENSATION	XIX D	55,250	
	ADMINISTRATIVE					WORKERS COMPENSATION INSURANCE	XIX D	135,132	
	MANAGEMENT FEES	XIX B	860,500	860,500		HOSPITALIZATION INSURANCE	XIX D	272,994	
	DIRECTORS FEES					EMPLOYEE BENEFITS - OTHER	XIX D	17,032	
,	DIRECTORS FEES		0	0		EMPLOYEE PHYSICAL EXAMS	XIX D	0	
1	PROFESSIONAL SERVICES					INSURANCE - EXECUTIVE LIFE	VI 21/XIX D	0	
	DATA PROCESSING	XIX C	19,551			PENSION/PROFIT SHARING PLANS	XIX D	0	
	ADMINISTRATIVE CONSULTANTS	XIX C	0						
	PROFESSIONAL FEES	XIX C	514,767						1,004,066
	BOOKKEEPING/ADMINISTRATIVE SERVICE	S							
				534,318	23	INSERVICE TRAINING & EDUCATION			
1	FEES,SUBSCRIPTIONS,PROMOTIONS					EDUCATION & SEMINARS		26,093	
	ENTERTAINMENT & MARKETING	VI 19 XIX F	0						26,093
	ADV & PROMO-NON PATIENT RELATED	VI 25 XIX F	7,959		24	TRAVEL & SEMINARS			
	EMPLOYEE WANT ADS	XIX F	21,216			EDUCATION & SEMINARS	XIX G	0	
	CONTRIBUTIONS	VI 20 XIX F	0			TRAVEL	XIX G	11,236	
	DUES & SUBSCRIPTIONS	XIX F	22,766						
	LICENSES & PERMITS	XIX F	2,972						11,236
	PUBLIC RELATIONS-PATIENT RELATED	XIX F	0		25	ADMIN. STAFF TRANSPORTATION			
	ADVERTISING-YELLOW PAGES	VI 28 XIX F	0			TRANSPORTATION - STAFF			
	TRUST FEES / FRANCHISE TAX / ETC	VI 17 XIX F	0						0
	CONTRIBUTIONS - POLITICAL	VI 20 XIX F	24,420		26	INSURANCE - PROP. LIAB & MALPRACTICE			
	HEALTH CARE WORKER BACKGROUND CH	IEC XIX F	1,920			GENERAL INSURANCE		357,212	
	PATIENT BACKGROUND CHECKS	XIX F	4,495						
				85,748					357,212
	CLERICAL & GENERAL OFFICE EXPENSES				27	OTHER			
	BANK CHARGES (INCLUDES NO OVERDRA	FT CHARGES)	8,539			BAD DEBTS	VI 24	268,215	
	EQUIPMENT REPAIR & MAINTENANCE		155,542						268,215
	OUTSIDE CLERICAL SERVICES		0						
	PENALTIES / OVERDRAFT CHARGES	VI 18	80,490						
	HOME OFFICE EXPENSE		0						
	THEFT & DAMAGE LOSS		0			GRAND TOTAL COLUMN 3 OTHER		ſ	6,698,663
	TELEPHONE		27,641					l <sub>e</sub>	
	MESSENGER SERVICE		3,726						

### BRIA OF FOREST EDGE SCHEDULES 12/31/2019

# EMPLOYEE MEAL RECLASSIFICATION PAGE 3 SCHEDULE V COLUMN 5 LINES 2 AND 22

TOTAL FOOD PURCHASE LESS SALES TAX NET FOOD	13,888 (649) 13,239
TOTAL PATIENT CENSUS TIMES 3 MEALS PER DAY TOTAL PATIENT MEALS	94,414 3 283,242
ADD # EMPLOYEE MEALS/DAY TIMES # DAYS TOTAL EMPLOYEE MEALS	79,570 0
PATIENT MEALS ADD EMPLOYEE MEALS TOTAL MEALS/YEAR	283,242 0 0
NET FOOD DIVIDE TOTAL MEALS/YEAR	13,239 0
COST PER MEAL TIMES EMPLOYEE MEALS EMPLOYEE MEAL RECLASSIFICATION	#DIV/0! 0 #DIV/0!

#0052035

**Report Period Beginning:** 

### V. COST CENTER EXPENSES (continued)

		(	Cost Per Gener	al Ledger		Reclass-	Reclassified	Adjust-	Adjusted	FOR BHF	USE ONLY	
	Capital Expense	Salary/Wage	Supplies	Other	Total	ification	Total	ments	Total			
	D. Ownership	1	2	3	4	5	6	7	8	9	10	
30	Depreciation			26,776	26,776		26,776	881,561	908,337			30
31	Amortization of Pre-Op. & Org.											31
32	Interest			81,002	81,002		81,002	665,228	746,230			32
33	Real Estate Taxes							538,413	538,413			33
34	Rent-Facility & Grounds			2,299,400	2,299,400		2,299,400	(2,299,400)				34
35	Rent-Equipment & Vehicles			23,534	23,534		23,534	5,216	28,750			35
36	Other (specify):* RENT OFFICE			26,400	26,400		26,400	78,428	104,828			36
37	TOTAL Ownership			2,457,112	2,457,112		2,457,112	(130,554)	2,326,558			37
	Ancillary Expense											
	E. Special Cost Centers											
38	Medically Necessary Transportation											38
39	Ancillary Service Centers		83,487	768,050	851,537		851,537		851,537			39
40	Barber and Beauty Shops											40
41	Coffee and Gift Shops											41
42	Provider Participation Fee			728,119	728,119		728,119		728,119			42
43	Other (specify):*											43
44	TOTAL Special Cost Centers		83,487	1,496,169	1,579,656		1,579,656		1,579,656			44
	GRAND TOTAL COST											
45	(sum of lines 29, 37 & 44)	6,900,623	422,438	10,651,944	17,975,005		17,975,005	(1,123,604)	16,851,401			45

<sup>\*</sup>Attach a schedule if more than one type of cost is included on this line, or if the total exceeds \$1000.

**BRIA OF FOREST EDGE** 

# 0052035 Report

**Report Period Beginning:** 1/1/2019

**Ending:** 

Page 5 12/31/2019

#### VI. ADJUSTMENT DETAIL

A. The expenses indicated below are non-allowable and should be adjusted out of Schedule V, pages 3 or 4 via column 7. In column 2 below, reference the line on which the particular cost was included. (See instructions.)

	In column	2 below	, reference the I		hich the particul	ar cos
			1	2 Refer-	DHEUSE	
	NON-ALLOWABLE EXPENSES		Amount		BHF USE ONLY	
1		•	Amount	ence	\$	1
2	Day Care	\$			<b>3</b>	2
	Other Care for Outpatients					
3	Governmental Sponsored Special Programs					3
4	Non-Patient Meals					4
5	Telephone, TV & Radio in Resident Rooms					5
6	Rented Facility Space					6
7	Sale of Supplies to Non-Patients					7
8	Laundry for Non-Patients					8
9	Non-Straightline Depreciation		19,511	30		9
10	Interest and Other Investment Income		(12,450)	32		10
11	Discounts, Allowances, Rebates & Refunds					11
12	Non-Working Officer's or Owner's Salary					12
13	Sales Tax		(649)	2		13
14	Non-Care Related Interest					14
15	Non-Care Related Owner's Transactions					15
16	Personal Expenses (Including Transportation)					16
17	Non-Care Related Fees					17
18	Fines and Penalties		(80,490)	21		18
19	Entertainment		· · · · · · · · · · · · · · · · · · ·			19
20	Contributions		(24,420)	20		20
21	Owner or Key-Man Insurance					21
22	Special Legal Fees & Legal Retainers					22
23	Malpractice Insurance for Individuals					23
24	Bad Debt		(268,215)	27		24
25	Fund Raising, Advertising and Promotional		(7,959)	20		25
	Income Taxes and Illinois Personal		( ) )			
26	Property Replacement Tax					26
27	CNA Training for Non-Employees					27
28						28
29	Other-Attach Schedule SEE PAGE 5A		(130,655)			29
30	SUBTOTAL (A): (Sum of lines 1-29)	\$	(505,327)		\$	30

	BHF USE ONL	Y				
48		49	50	51	52	

## B. If there are expenses experienced by the facility which do not appear in the general ledger, they should be entered below. (See instructions.)

0			1	2	
		A	mount	Reference	
31	Non-Paid Workers-Attach Schedule*	\$			31
32	Donated Goods-Attach Schedule*				32
33	Amortization of Organization & Pre-Operating Expense				33
34	Adjustments for Related Organization Costs (Schedule VII)		(618,277)		34
35	Other- Attach Schedule				35
36	SUBTOTAL (B): (sum of lines 31-35)	\$	(618,277)		36
37	(sum of SUBTOTALS TOTAL ADJUSTMENTS (A) and (B))	\$	(1,123,604)		37

<sup>\*</sup>These costs are only allowable if they are necessary to meet minimum licensing standards. Attach a schedule detailing the items included on these lines.

C. Are the following expenses included in Sections A to D of pages 3 and 4? If so, they should be reclassified into Section E. Please reference the line on which they appear before reclassification. (See instructions.)

1 2 3

		Yes	No	Amount	Reference	
38	Medically Necessary Transport.			\$		38
39						39
40	Gift and Coffee Shops					40
41	Barber and Beauty Shops					41
42	Laboratory and Radiology					42
43	Prescription Drugs					43
44						44
45	Other-Attach Schedule					45
46	Other-Attach Schedule					46
47	TOTAL (C): (sum of lines 38-46)			\$		47

#### STATE OF ILLINOIS

Page 5A

BRIA OF FOREST EDGE

Sch. V Line

				Sch. V Line	
	NON-ALLOWABLE EXPENSES		Amount	Reference	
1	MARKETING SALARY	\$	(128,692)	21	1
2					2
3	MARKETING TRAVEL		(1,963)	25	3
4			, ,		4
5					5
6					6
7					7
8					8
9					9
10					10
11					11
12					12
13					13
14					14
15					15
16					16
17					17
18					18
19					19
20					20
21					21
22					22
23					23
24					24
25					25
26					26
27					27
28					28
29					29
30					30
31					31
32					32
33		_			33
		_			
34		_			34
35					35
36					36
37					37
38					38
39					39
40					40
41					41
42					42
43					43
44					44
45					45
46					46
47					47
48					48
49	Total		(130,655)		49
			,		

STATE OF ILLINOIS Summary A

Facility Name & ID Number BRIA OF FOREST EDGE **# 0052035 Report Period Beginning:** 1/1/2019 **Ending:** 12/31/2019 **SUMMARY OF PAGES 5, 5A, 6, 6A, 6B, 6C, 6D, 6E, 6F, 6G, 6H AND 61** 

	SUMINIARY OF PAGES 5, 5A, 0, 0A	, ob, oc, ob, o		TAND OF									SUMMARY	
	Operating Expenses	PAGES	PAGE	PAGE	PAGE	PAGE	PAGE	PAGE	PAGE	PAGE	PAGE	PAGE	TOTALS	
	A. General Services	5 & 5A	6	6A	6B	6C	6D	6E	6F	6G	6H		(to Sch V, col	7)
1	Dietary	0	0	0	0	0	0.0	0	0	0	0	0	0	
2	Food Purchase	(649)	0	0	0	0	0	0	0	0	0	0	(649)	2
3	Housekeeping	0	0	0	0	0	0	0	0	0	0	0	0	3
4	Laundry	0	0	0	0	0	0	0	0	0	0	0	0	4
5	Heat and Other Utilities	0	0	158	0	0	0	0	0	0	0	0	158	5
6	Maintenance	0	0	2,184	0	0	0	0	0	0	0	0	2,184	6
7	Other (specify):*	0	0	341	0	0	0	0	0	0	0	0	341	7
8	TOTAL General Services	(649)	0	2,683	0	0	0	0	0	0	0	0	2,034	8
	B. Health Care and Programs													
9	Medical Director	0	0	0	0	0	0	0	0	0	0	0	0	9
10	Nursing and Medical Records	0	0	73,798	0	0	0	0	0	0	0	0	73,798	10
10a	Therapy	0	0	0	0	0	0	0	0	0	0	0	0	10a
11	Activities	0	0	0	0	0	0	0	0	0	0	0	0	11
12	Social Services	0	0	0	0	0	0	0	0	0	0	0	0	12
13	CNA Training	0	0	0	0	0	0	0	0	0	0	0	0	13
14	Program Transportation	0	0	0	0	0	0	0	0	0	0	0	0	14
15	Other (specify):*	0	0	0	0	0	0	0	0	0	0	0	0	15
16	<b>TOTAL Health Care and Programs</b>	0	0	73,798	0	0	0	0	0	0	0	0	73,798	16
	C. General Administration													
17	Administrative	0	0	(849,500)	0	0	0	0	0	0	0	0	(849,500)	
18	Directors Fees	0	0	0	0	0	0	0	0	0	0	0	0	18
19	Professional Services	0	12,700	7,314	0	0	0	0	0	0	0	0	20,014	
20	Fees, Subscriptions & Promotions	(32,379)	0	923	0	0	0	0	0	0	0	0	(31,456)	
21	Clerical & General Office Expenses	(209,182)	0	161,870	0	0	0	0	0	0	0	0	(47,312)	
22	Employee Benefits & Payroll Taxes	0	0	0	0	0	0	0	0	0	0	0	0	22
23	Inservice Training & Education	0	0	2,308	0	0	0	0	0	0	0	0	2,308	23
24	Travel and Seminar	0	0	9,573	0	0	0	0	0	0	0	0	9,573	24
25	Other Admin. Staff Transportation	(1,963)	0	0	0	0	0	0	0	0	0	0	(1,963)	
	Insurance-Prop.Liab.Malpractice	0	47,828	3,321	0	0	0	0	0	0	0	0	51,149	26
27	Other (specify):*	(268,215)	0	46,520	0	0	0	0	0	0	0	0	(221,695)	27
28	TOTAL General Administration	(511,739)	60,528	(617,671)	0	0	0	0	0	0	0	0	(1,068,882)	28
	TOTAL Operating Expense													
29	(sum of lines 8,16 & 28)	(512,388)	60,528	(541,190)	0	0	0	0	0	0	0	0	(993,050)	29

STATE OF ILLINOIS

Summary B 12/31/2019 **Facility Name & ID Number BRIA OF FOREST EDGE** # 0052035 **Report Period Beginning:** 1/1/2019 Ending:

#### **SUMMARY OF PAGES 5, 5A, 6, 6A, 6B, 6C, 6D, 6E, 6F, 6G, 6H AND 6I**

	C ' I F	<b>D</b> A CEC	DA CE	DA CE	DA CE	DA CE	DA CE	D. CE	D. CE	DA CE	D. CE	DA CE	SUMMARY	
	Capital Expense	PAGES	PAGE	PAGE	PAGE	PAGE	PAGE	PAGE	PAGE	PAGE	PAGE	PAGE	TOTALS	
	D. Ownership	5 & 5A	6	6A	6B	6C	6D	6E	6F	6G	6H	<b>6I</b>	(to Sch V, col.	_
30	Depreciation	19,511	854,472	7,578	0	0	0	0	0	0	0	0	881,561	30
31	Amortization of Pre-Op. & Org.	0	0	0	0	0	0	0	0	0	0	0	0	31
32	Interest	(12,450)	619,508	58,170	0	0	0	0	0	0	0	0	665,228	32
33	Real Estate Taxes	0	538,413	0	0	0	0	0	0	0	0	0	538,413	33
34	Rent-Facility & Grounds	0	(2,299,400)	0	0	0	0	0	0	0	0	0	(2,299,400)	34
35	Rent-Equipment & Vehicles	0	0	5,216	0	0	0	0	0	0	0	0	5,216	35
36	Other (specify):*	0	78,428	0	0	0	0	0	0	0	0	0	78,428	36
37	TOTAL Ownership	7,061	(208,579)	70,964	0	0	0	0	0	0	0	0	(130,554)	37
	Ancillary Expense													
	E. Special Cost Centers													
38	Medically Necessary Transportation	0	0	0	0	0	0	0	0	0	0	0	0	38
39	Ancillary Service Centers	0	0	0	0	0	0	0	0	0	0	0	0	39
40	Barber and Beauty Shops	0	0	0	0	0	0	0	0	0	0	0	0	40
41	Coffee and Gift Shops	0	0	0	0	0	0	0	0	0	0	0	0	41
42	Provider Participation Fee	0	0	0	0	0	0	0	0	0	0	0	0	42
43	Other (specify):*	0	0	0	0	0	0	0	0	0	0	0	0	43
44	TOTAL Special Cost Centers	0	0	0	0	0	0	0	0	0	0	0	0	44
	GRAND TOTAL COST													
45	(sum of lines 29, 37 & 44)	(505,327)	(148,051)	(470,226)	0	0	0	0	0	0	0	0	(1,123,604)	45

Page 6 **Ending:** 

# 0052035

**Report Period Beginning:** 

1/1/2019

12/31/2019

#### VII. RELATED PARTIES

A. Enter below the names of ALL owners and related organizations (parties) as defined in the instructions. Use Page 6-Supplemental as necessary.

1. Enter bolow the hames of ALL owners and related organizations (parties) as defined in the mediations. See 1 age 5 supplemental de necessary.									
	2		3						
	RELATED NURSING HO	MES	OTHER REL	ATED BUSINESS EN	TITIES				
Name Ownership %		City	Name	City	Type of Business				
		2 RELATED NURSING HO	2 RELATED NURSING HOMES	2 RELATED NURSING HOMES OTHER REL	2 RELATED NURSING HOMES OTHER RELATED BUSINESS ENT				

B. Are any costs included in this report which are a result of transactions with related organizations? This includes rent, X YES management fees, purchase of supplies, and so forth. NO

If yes, costs incurred as a result of transactions with related organizations must be fully itemized in accordance with the instructions for determining costs as specified for this form.

	1	2	3 Cost Per General Ledger	4	5 Cost to Related Organization	6	7	8 Difference:	
						Percent	Operating Cost	Adjustments for	
Scl	edule V	Line	Item	Amount	Name of Related Organization	of	of Related	Related Organization	
						Ownership	Organization	Costs (7 minus 4)	
1	V	34	RENT	\$ 1,699,40	0 BEVERLY PAVILION LLC		\$	\$ (1,699,400)	1
2	V	19	PROFESSIONAL FEES				12,700	12,700	2
3	V	<b>26</b>	INSURANCE - PROPERTY				47,828	47,828	3
4	V	30	DEPRECIATION-SL				825,667	825,667	4
5	V	32	INTERST				619,508	619,508	5
6	V	33	REAL ESTATE TAXES				538,413	538,413	6
7	V	36	M.I.P. INSURANCE				78,428	78,428	7
8	V								8
9	V	34	RENT	2,299,40	0 PRESIDENTIAL PAVILION LLC			(2,299,400)	9
10	V	34	RENT				1,699,400	1,699,400	10
11	V	30	DEPRECIATION-SL				28,805	28,805	11
12	V								12
13	V								13
14	Total			\$ 3,998,80	0		\$ 3,850,749	<b>\$</b> * (148,051)	14

<sup>\*</sup> Total must agree with the amount recorded on line 34 of Schedule VI.

#

**Report Period Beginning:** 

1/1/2019

Page 6A **Ending:** 12/31/2019

#### VII. RELATED PARTIES (continued)

В.	Are any costs included in this report which are a result of transactions wit	h rela	ted organizat	ions?	This includes ren
	management fees, purchase of supplies, and so forth.	X	YES		NO

If yes, costs incurred as a result of transactions with related organizations must be fully itemized in accordance with

the instructions for determining costs as specified for this form.

	1	2	3 Cost Per General Ledger	4	5 Cost to Related Organization	6	7	8 Difference:	
			-			Percent	Operating Cost	Adjustments for	
Sch	edule V	Line	Item	Amount	Name of Related Organization	of	of Related	Related Organization	
						Ownership	Organization	Costs (7 minus 4)	
15	V	17	MANAGEMENT FEES	\$ 860,500	BRIA HEALTH SERVICES		\$	\$ (860,500)	15
16	V								16
17	V	17	CFO SALARY-A.WEINFELD				11,000	11,000	17
18	V	10	SALARIES-MEDICARE/NURSING				67,236	67,236	18
19	V		SALARIES-REGIONAL DIR RELATE				6,562	6,562	
20	V		SALARIES-CLERICAL RELATED PA	ARTIES			11,052	,	20
21	V	21	SALARIES-CLERICAL				126,061	,	21
22	V	5	UTILITIES				158		22
23	V	6	MAINTENANCE				2,184	, -	23
24	V	7	SCAVENGER				341		
25	V	19	PROFESSIONAL FEES				7,314		
26	V	20	DUES,FEES,SUBSCRIPTIONS				923		
27	V	21	OFFICE EXPENSE				24,757	24,757	27
28	V	23	SEMINARS				2,308	2,308	28
29	V	24	TRAVEL				9,573	9,573	29
30	V	<b>26</b>	INSURANCE				3,321		
31	V	<b>27</b>	EMPLOYEE BENEFITS				46,520	,	
32	V	30	DEPRECIATION				7,578	7,578	32
33	V	32	INTEREST				58,170		33
34	V		AUTO LEASE				3,440	,	34
35	V	35	EQUIPMENT RENTAL				1,776	1,776	
36	V								36
37	V								37
38	V								38
39	Total			\$ 860,500			\$ 390,274	§ * (470,226)	39

<sup>\*</sup> Total must agree with the amount recorded on line 34 of Schedule VI.

BRIA OF FOREST EDGE

# 0052035

**Report Period Beginning:** 

1/1/2019 Ending:

12/31/2019

#### VII. RELATED PARTIES

Enter below the names of ALL owners and related organizations (parties) as defined in the instructions A. (Continued)

	1		2	,		3		
	OWNERS		RELATED NURSING H	OMES	OTHER RELA	ATED BUSINESS ENTI	TIES	
	Name	Ownership %	Name	City	Name	City	Type of Business	1 1
١,								
1	AVRUM WEINFELD	23.75	BRIA OF CAHOKIA	СОНОКІА				1
2	DANIEL WEIGG	22.75	DDIA OF DWED OAKS	DIIDNIIIAM	DAE DE ALTW CODD	CIVOLVIE	MCMT CONCLUT	2
3	DANIEL WEISS	23.75	BRIA OF RIVER OAKS	BURNHAM	IME REALTY CORP	SKUKIE	MGMT CONSULT	4
5	NATAN WEISS	23.75	BRIA OF BELLEVILLE	BELLEVILLE				5
6	NATAN WEISS	23.75	BRIA OF BELLEVILLE	BELLEVILLE				6
7	FRED BERKOVITS	23.75	BRIA OF GENEVA	GENEVA	BRIA HEALTH		MANAGEMENT	7
8	TRED DERNO VITS	20.73	DKM OF GENEVA	GENEVA		SKOKIE	WANTOEWENT	8
9	DOV SEGAL	5	BRIA OF WESTMONT	WESTMONT	DERVICES, EEC			9
10	201		Didition ( Dominor)	VV DO TITOTAL	BEVERLY PAVILION		REAL ESTATE	10
11			BRIA OF CHICAGO HEIGHTS	SOUTH CHICAGO		SKOKIE		11
12				HEIGHTS				12
13								13
14			BRIA OF PALOS HEIGHTS	PALOS HILLS				14
15								15
16			LAKE PARK	WAUKEGAN				16
17								17
18								18
19								19
20								20
21								21
22 23								22
24								24
25			-					25
26								25 26
27								27
28								28
29								29
29 30								29 30

**BRIA OF FOREST EDGE** 

# 0052035

**Report Period Beginning:** 

1/1/2019

**Ending:** 

12/31/2019

Page 7

#### **VII. RELATED PARTIES (continued)**

C. Statement of Compensation and Other Payments to Owners, Relatives and Members of Board of Directors.

NOTE: ALL owners (even those with less than 5% ownership) and their relatives who receive any type of compensation from this home must be listed on this schedule.

	1	2	3	4	5	(	5	7		8	
						Average Hou	rs Per Work				
					Compensation	Week Devo	oted to this	Compensati	on Included	Schedule V.	
					Received	Facility and % of Total		in Costs for this		Line &	
				Ownership	From Other	Work Week		Reportin	g Period**	Column	
	Name	Title	Function	Interest	Nursing Homes*	Hours	Percent	Description	Amount	Reference	l
1	ALLOCATIOM FR BRIA HE	CALTH SERVICES							\$		1
2					SEE						2
3	AVRUM WEINFELD	CFO	<b>ADMINISTRATIV</b>	23.75	ATTACHED	4	10.00	SALARY	11,000	17-7	3
4					SCHEDULE						4
5											5
6											6
7											7
8											8
9											9
10											10
11											11
12											12
13								TOTAL	\$ 11,000		13

<sup>\*</sup> If the owner(s) of this facility or any other related parties listed above have received compensation from other nursing homes, attach a schedule detailing the name(s) of the home(s) as well as the amount paid. THIS AMOUNT MUST AGREE TO THE AMOUNTS CLAIMED ON THE THE OTHER NURSING HOMES' COST REPORTS.

\*\* This must include all forms of compensation paid by related entities and allocated to Schedule V of this report (i.e., management fees).

FAILURE TO PROPERLY COMPLETE THIS SCHEDULE INDICATING ALL FORMS OF COMPENSATION RECEIVED FROM THIS HOME,

ALL OTHER NURSING HOMES AND MANAGEMENT COMPANIES MAY RESULT IN THE DISALLOWANCE OF SUCH COMPENSATION

0052035 Report Period Beginning:

STATE OF ILLINOIS Page 8

#### VIII. ALLOCATION OF INDIRECT COSTS

**Facility Name & ID Number** 

A. Are there any costs included in this report which	h were derived from a	allocations of centra	ıl office
or parent organization costs? (See instructions.)	YES	X NO	

**BRIA OF FOREST EDGE** 

B. Show the allocation of costs below. If necessary, please attach worksheets.

Name of Related Organization

1/1/2019

**Street Address** 

City / State / Zip Code Phone Number

Fax Number

BRIA HEALTH SERVICES LLC

5151 CHURCH STREET

**Ending:** 2/31/2019

SKOKIE, IL 60077

847 ) 674 - 5795

847 ) 674 - 5794

	1	2	3	4	5	6	7	8	9	
	Schedule V		Unit of Allocation		Number of	Total Indirect	Amount of Salary			
	Line		(i.e.,Days, Direct Cost,		<b>Subunits Being</b>	Cost Being	<b>Cost Contained</b>	Facility	Allocation	
	Reference	Item	Square Feet)	<b>Total Units</b>	Allocated Among	Allocated	in Column 6	Units	(col.8/col.4)x col.6	
1	17	CFO SALARY-A.WEINFELD	wghtd avr hours		9	\$ 99,000	\$ 99,000		\$ 11,000	1
2	10	SALARIES-MEDICARE/NURSING	CENSUS DAYS	523,913	9	373,102	373,102	94,414	67,236	2
3	10	SALARIES-REGIONAL DIR RELA	wghtd avr hours		9	59,058	59,058		6,562	3
4	21	SALARIES-CLERICAL RELATED	wghtd avr hours		9	98,301	98,301		11,052	4
5	21	SALARIES-CLERICAL	CENSUS DAYS	523,913	9	699,523	699,523	94,414	126,061	5
6	5	UTILITIES	CENSUS DAYS	523,913	9	876		94,414	158	6
7	6	MAINTENANCE	CENSUS DAYS	523,913	9	12,122		94,414	2,184	7
8			CENSUS DAYS	523,913	9	1,890		94,414	341	8
9	19	PROFESSIONAL FEES	CENSUS DAYS	523,913	9	40,586		94,414	7,314	9
10		, ,	CENSUS DAYS	523,913	9	5,122		94,414	923	10
11			CENSUS DAYS	523,913	9	137,380		94,414	24,757	11
12	23	SEMINARS	CENSUS DAYS	523,913	9	12,805		94,414	2,308	12
13	24	TRAVEL	CENSUS DAYS	523,913	9	53,120		94,414	9,573	13
14	26	INSURANCE	CENSUS DAYS	523,913	9	18,429		94,414	3,321	14
15	27		CENSUS DAYS	523,913	9	258,147		94,414	46,520	15
16	30	DEPRECIATION	CENSUS DAYS	523,913	9	42,051		94,414	7,578	16
17		INTEREST	CENSUS DAYS	523,913	9	322,789		94,414	58,170	17
18	35	AUTO LEASE	CENSUS DAYS	523,913	9	19,199		94,414	3,460	18
19	35	EQUIPMENT RENTAL	CENSUS DAYS	523,913	9	9,854		94,414	1,776	19
20										20
21										21
22										22
23										23
24										24
25	TOTALS					\$ 2,263,354	\$ 1,328,984		\$ 390,294	25

**BRIA OF FOREST EDGE** 

# 0052035

**Report Period Beginning:** 

1/1/2019

**Ending:** 

Page 9 12/31/2019

#### IX. INTEREST EXPENSE AND REAL ESTATE TAX EXPENSE

A. Interest: (Complete details must be provided for each loan - attach a separate schedule if necessary.)

	ì	2	•	3	4	5	,	6	7	8	9	10	
	Name of Lender	Relate YES	ed** NO	Purpose of Loan	Monthly Payment Required	Date of Note		Amou Original	int of Note  Balance	Maturity Date	Interest Rate (4 Digits)	Reporting Period Interest Expense	
	A. Directly Facility Related										8 /		
	Long-Term												
1	<b>HUD - CAMBRIDGE - BEVER</b>	LY	X	MORTGAGE	\$79,003.00	6/01/12	\$	17,721,500	\$ 15,532,581	05/01/43	0.0395	\$ 619,508	1
2													2
3													3
4	S.SEGAL			WORKING CAPITAL	\$1,590.00	11/12		150,000	21,815	11/22	0.0500	3,029	4
5	B.WEINFELD			WORKING CAPITAL	\$2,500.00			200,000	178,077	11/22	0.1409	25,446	5
	Working Capital												
6	MB FINANCIAL			WORKING CAPITAL		11/12		3,000,000	700,000		PRIME+	52,527	6
7													7
8	RELATED PARTY ALLOCAT	TON										58,170	8
9	TOTAL Facility Related B. Non-Facility Related*				\$83,093.00		\$	21,071,500	\$ 16,432,473			\$ 758,680	9
10	Ţ.												10
11													11
12													12
13													13
14	TOTAL Non-Facility Related						\$		\$			\$	14
15	TOTALS (line 9+line14)						\$	21,071,500	\$ 16,432,473			\$ 758,680	15

<sup>16)</sup> Please indicate the total amount of mortgage insurance expense and the location of this expense on Sch. V. \$ 78,428 Line # 36

<sup>\*</sup> Any interest expense reported in this section should be adjusted out on page 5, line 14 and, consequently, page 4, col. 7. (See instructions.)

<sup>\*\*</sup> If there is ANY overlap in ownership between the facility and the lender, this must be indicated in column 2. (See instructions.)

# 0052035 Report Period Beginning:

1/1/2019 **Ending:** 

12/31/2019

## IX. INTEREST EXPENSE AND REAL ESTATE TAX EXPENSE (continued) B. Real Estate Taxes

D. Real Estate Taxes										
1. Real Estate Tax accrual used on 2018 report.	Important, please see the next works statement and bill must accompany t		ne real estate tax	s	565,083	1				
2. Real Estate Taxes paid during the year: (Indi	cate the tax year to which this payment applies. If payment cov	vers more than one year, de	tail below.)	\$	587,068	2				
3. Under or (over) accrual (line 2 minus line 1).	\$	21,985	3							
4. Real Estate Tax accrual used for 2019 report.	4. Real Estate Tax accrual used for 2019 report. (Detail and explain your calculation of this accrual on the lines below.)									
(Describe appeal cost below. Attac 6. Subtract a refund of real estate taxes. You m	which has NOT been included in professional fees or other general hand contained in professional fees or other general hand a contained in professional fees or other general ha			\$		5				
TOTAL REFUND \$ 76,511 Fo	classified as a real estate tax cost plus one-half of any remaining refund.  TOTAL REFUND \$ 76,511 For 16 Tax Year. (Attach a copy of the real estate tax appeal board's decision.)  7. Real Estate Tax expense reported on Schedule V, line 33. This should be a combination of lines 3 thru 6.									
Real Estate Tax History:				•						
Real Estate Tax Bill for Calendar Year:	2014 476,845 8 2015 481,021 9		FOR BHF USE ONLY							
	2016 529,981 10	13	FROM R. E. TAX STATEMENT FOR	R 2018 \$		13				
	2017 565,083 11 2018 587,068 12	14	PLUS APPEAL COST FROM LINE 5	5 \$		14				
ON ~ 101% OF THE PRIOR YEAR REAL ESTA	TE TAX BILL	15	LESS REFUND FROM LINE 6	\$		15				
THE PAYMENT ON LINE 2 APPLIES TO THE	2018 TAX BILL.	16	AMOUNT TO USE FOR RATE CALO	CULATION \$		16				

#### **NOTES:**

- 1. Please indicate a negative number by use of brackets( ). Deduct any overaccrual of taxes from prior year.
- 2. If facility is a non-profit which pays real estate taxes, you must attach a denial of an application for real estate tax exemption unless the building is rented from a for-profit entity. This denial must be no more than four years old at the time the cost report is filed.

### 2018 LONG TERM CARE REAL ESTATE TAX STATEMENT

COUNTY COOK

FACILITY NAME BRIA OF FOREST EDGE

FAC	TILITY IDPH LICENSE NUMBEI	R 0052035		
CON	TACT PERSON REGARDING T	THIS REPORT KATHLEEN MCNAMA	RA	
TEL	EPHONE (847) 675-3585	FAX#: <u>(84</u>	7) 675-5777	_
A.	Summary of Real Estate Tax C	<u>'ost</u>		
	cost that applies to the operation home property which is vacant, r	eal estate tax assessed for 2018 on the lin of the nursing home in Column D. Real of ented to other organizations, or used for particular cost for any period other than calend	estate tax applicable to any ourposes other than long to	y portion of the nursing
	(A)	<b>(B)</b>	(C)	(D) <u>Tax</u> <u>Applicable to</u>
	Tax Index Number	<b>Property Description</b>	<b>Total Tax</b>	Nursing Home
1.	20-31-108-044-0000	NURSING HOME	\$ 587,067.92	\$587,067.92
2.			\$	\$
3.			\$	\$
4.			\$	\$
5.			\$	\$
6.			\$	\$
7.			\$	\$
8.			\$	\$
9.			\$	\$
10.			\$	\$
		TOTALS	\$ 587,067.92	\$ 587,067.92
B.	Real Estate Tax Cost Allocation	<u>ns</u>		
	Does any portion of the tax bill a used for nursing home services?	pply to more than one nursing home, vaca YES X NO		which is not directly
		d a schedule which shows the calculation t must be allocated to the nursing home be		
C.	Tax Bills			
	Attach a copy of the original 201 tax bill which is normally paid do	8 tax bills which were listed in Section A aring 2019.	to this statement. Be sure	e to use the 2018
		<b>aformation from the Internet</b> or other ated in Cook County are required to pr		

Page 10A

					STATE O	F ILLINOIS	<b>S</b>		Page 11
	lity Name & ID Number BRIA				#	0052035	Report Po	eriod Beginning:	1/1/2019 Ending: 12/31/2019
X. B	UILDING AND GENERAL IN	FORMAT	ION:						
A.	Square Feet:	92,056	<b>B.</b> General Construction Type:	Exterior	BRICK		Frame	7+BASEMENT	Number of Stories
C.	Does the Operating Entity?		(a) Own the Facility	X (b) Rent from	a Related (	Organization	ı <b>.</b>		(c) Rent from Completely Unrelated Organization.
	(Facilities checking (a) or (b)	must com	plete Schedule XI. Those checking (c)	may complete Schedu	ule XI or Scl	nedule XII-A	A. See instr	uctions.)	Ü
D.	Does the Operating Entity?		X (a) Own the Equipment	X (b) Rent equi	pment from	a Related O	rganizatio	n.	(c) Rent equipment from Completely Unrelated Organization.
	(Facilities checking (a) or (b)	must com	plete Schedule XI-C. Those checking	(c) may complete Scho	edule XI-C (	or Schedule 2	XII-B. See	instructions.)	5
E.	(such as, but not limited to, a	partments	this operating entity or related to the assisted living facilities, day training re footage, and number of beds/units	g facilities, day care, in	ndependent l				
F.	Does this cost report reflect a		zation or pre-operating costs which a	re being amortized?				YES	X NO
1	. Total Amount Incurred:				2. Number	of Years O	ver Which	it is Being Amort	ized:
3	. Current Period Amortization	: _			4. Dates I	curred:			
		N	Vature of Costs:  (Attach a complete schedule deta	iling the total emount	of ougonize	tion and nu	anauatina	acets )	_
			(Attach a complete schedule deta	ining the total amount	oi organiza	uon anu pre	-operating	costs.)	
XI. (	OWNERSHIP COSTS:								
		_	1	2	T 7	3	1	4	<del></del>
	A. Land.	F	Use	Square Feet	Year	Acquired 2005		Cost 1,500,000	1
		-	2			2005	<b>v</b>	1,300,000	
			3 TOTALS				\$	1,500,000	3

Page 12 1/1/2019 Ending: 12/31/2019 **Report Period Beginning:** 

Facility Name & ID Number BRIA OF FOREST EDGE XI. OWNERSHIP COSTS (continued)

B. Building and Improvement Costs-Including Fixed Equipment. (See instructions.) Round all numbers to nearest dollar.

	1	ig and improvement Costs-includin	2	3	4	5	6	7	8	9	
		FOR BHF USE ONLY	Year	Year		Current Book	Life	Straight Line		Accumulated	
	Beds*		Acquired	Constructed	Cost	Depreciation	in Years	Depreciation	Adjustments	Depreciation	
4	328		2005	2005	\$ 17,449,000	\$ 634,509	27.5	\$ 634,509	\$	\$ 8,750,937	4
5											5
6											6
7	<b>BRIA ALLO</b>	C			130,335	3,585		3,585			7
8											8
	Impro	vement Type**						_	•		
9	AWNINGS			2001	10,500	382	27.5	382		6,924	9
10	FENCE			2001	2,100		15			2,100	10
	ELEVATOR			2001	18,340	667	27.5	667		12,089	11
	ALARM			2001	5,686	207	27.5	207		3,752	12
	WINDOWS			2001	4,149	151	27.5	151		2,737	13
	BOILER			2001	3,000	109	27.5	109		1,758	14
		WALLPAPER & BORDERS		2001	12,953		5			12,953	15
	KITCHEN SI	NK & DRAIN		2001	2,525	92	27.5	92		1,667	16
	DOORS			2001	15,100	549	27.5	549		9,940	17
	ELEVATOR			2002	222,811	8,102	27.5	8,102		145,836	18
	FENCE			2002	3,100		15			3,100	19
-	DOORS & LO			2002	21,741	791	27.5	791		14,139	20
	SHOWER RO			2002	4,669	170	27.5	170		2,940	21
	ALARM AND			2002	11,881	432	27.5	432		7,469	22
_		SEWEGE PUMP		2002	14,604	531	27.5	531		9,182	23
	ROOF DRAIN			2002	3,100	113	27.5	113		1,982	24
		- CARPETS AND DRAPERIES		2002	91,494	4.020	5	4.030		91,494	25
	ELEVATIR	ATT.		2003	110,562	4,020	27.5	4,020		67,503	26
	PARKING LO			2003	64,182	000	15	000		64,182	27
	FIRE ALARM	ISYSIEM		2003	 25,000	909	27.5	909		15,036	28
	ROOF	7.4.1.1		2003	26,500	964	27.5	964		15,866	29
	EXTERIOR V	YALL		2003 2003	9,796	356 114	27.5	356 114		5,830 1,886	30
	SINKS BUILT IN WA	DDDODE		2003	 3,146 19,398	705	27.5 27.5	705	ļ	1,886	31
		C & HEATING RETURN FAN		2003	4,700	171	27.5 27.5	171		2,715	33
	FIRE ALARM			2004	13,201	480	27.5	480		7,580	34
	BUILT IN WA			2004	21,807	793	27.5	793		12,325	35
36	DOILLI III WA	MUNODE		2004	61,620	2,241	27.5	2,241		34,269	36

<sup>\*</sup>Total beds on this schedule must agree with page 2.

See Page 12A, Line 70 for total

\*\*Improvement type must be detailed in order for the cost report to be considered complete

**Report Period Beginning:** 

Facility Name & ID Number BRIA OF FOREST EDGE
XI. OWNERSHIP COSTS (continued)

B. Building and Improvement Costs-Including Fixed Equipment. (See instructions.) Round all numbers to nearest dollar.

1	3	4	5	6	7	8	9	T
	Year		Current Book	Life	Straight Line		Accumulated	
Improvement Type**	Constructed	Cost	Depreciation	in Years	Depreciation	Adjustments	Depreciation	
37 DOORS	2004	\$ 2,995	<b>\$</b> 109	27.5	<b>\$</b> 109	\$	\$ 1,658	37
38 BOILER REPAIR	2004	5,650	206	27.5	206		3,098	38
39 HOT WATER HEATER	2004	5,756	209	27.5	209		3,571	39
40 FLOOR TILING	2004	5,326	194	27.5	194		2,918	40
41 REMODEL BATHROOM	2005	6,080	221	27.5	221		3,214	41
42 DOORS	2005	4,506	164	27.5	164		2,385	42
43 FLOOR TILING	2005	1,536	56	27.5	56		814	43
44 2 WATER BOILERS	2005	99,047	3,602	27.5	3,602		51,479	44
45 CONCRETE PATIO	2005	3,015	201	15	201		2,940	45
46 SHOWER	2006	3,040	111	27.5	111		1,503	46
47 DUCT WORK	2006	5,600	204	27.5	204		2,763	47
48 A/C COOLING TOWER	2006	13,161	479	27.5	479		6,007	48
49 FIRE ALARM - BEVERLY	2007	273,534	9,946	27.5	9,946		124,326	49
50 COOLING TOWERS - BEVERLY	2007	121,905	4,433	27.5	4,433		55,412	50
51 SHOWERS - BEVERLY	2007 2007	12,160	442	27.5 27.5	442		5,525	51
52 AIR CLEANERS - BEVERLY	2007	10,851 5,100	395 185	27.5	395 185		4,937 2,405	52
53 CONCRETE WORK - BEVERLY	2007	9,120	333	27.5	333		3,907	54
54 SHOWERS - BEVERLY	2008	4,520	164	27.5	164		1,961	55
55 DOORS - BEVERLY 56 ROLLER - REVERLY	2008	5,295	193	27.5	193		2,211	56
56 BOLIER - BEVERLY 57 FLOORS - BEVERLY	2008	6,260	228	27.5	228		2,575	57
58 ROOFING - BEVERLY	2008	3,800	138	27.5	138		1,547	58
59 EXTERIOR WALL - BEVERLY	2008	20,000	727	27.5	727		8.027	59
60 ROOFING - BEVERLY	2009	10,333	375	27.5	375		4,009	60
61 CAULK JOINTS - BEVERLY	2010	28,450	1,035	27.5	1,035		9,876	61
62 MECHANICAL ROOM - BEVERLY	2010	19,450	707	27.5	707		6,569	62
63 WELDING - BEVERLY	2010	3,587	130	27.5	130		1,186	63
64 ROOF - BEVERLY	2010	2,925	106	27.5	106		967	64
65 STEEL DOOR - BEVERLY	2011	1,275	46	27.5	46		404	65
66 CONTROLLE R- ANNUNCIATOR - BEVERLY	2011	6,649	242	27.5	242		1,886	66
67 CONCRETE - SIDEWALK - BEVERLY	2011	2,375	86	27.5	86		763	67
68 BACKFLOW REPAIR - BEVERLY	2011	4,550	165	27.5	165		1,354	68
69 ELECTRICAL - BEVERLY	2012	4,347	158	27.5	158		1,244	69
70 TOTAL (lines 4 thru 69)		\$ 19,099,198	\$ 687,133		\$ 687,133	\$	\$ 9,643,118	70

<sup>\*\*</sup>Improvement type must be detailed in order for the cost report to be considered complete.

Report Period Beginning:

Page 12B 1/1/2019 Ending: 12/31/2019

#### XI. OWNERSHIP COSTS (continued)

B. Building and Improvement Costs-Including Fixed Equipment. (See instructions.) Round all numbers to nearest dollar.

1	8	9	$\top$					
	Year		Current Book	Life	Straight Line		Accumulated	
Improvement Type**	Constructed	Cost	Depreciation	in Years	Depreciation	Adjustments	Depreciation	
1 Totals from Page 12A, Carried Forward		\$ 19,099,198	\$ 687,133		\$ 687,133	\$	\$ 9,643,118	1
2 VINYL FENCE AND GATE	2012	7,400	269	27.5	269		2,051	2
3 SOUTH ROOF FLASHING - BEVERLY	2012	4,350	158	27.5	158		1,192	3
4 KITCHEN IMPROVEMENT - BEVERLY	2012	2,640	96	27.5	96		716	4
5 SIDEWALK - BEVERLY	2012	2,150	78	27.5	78		582	5
6 NORTH ROOF FLASHING - BEVERLY	2012	1,950	71	27.5	71		530	6
7 SPRINKLER MODIFICATIONS	2012	17,530	637	27.5	637		4,592	7
8 FIRE DAMPERS, CEILING, ELECTRICAL WORK - BEVERL'	2012	49,679	1,807	27.5	1,807		13,025	8
9 COMPLETE REBUILD OF CHILLER - BEVERLY	2013	42,700	1,553	27.5	1,553		10,677	9
10 WIRING FOR SATELLITE - BEVERLY	2013	13,325	485	27.5	485		3,254	10
11 FIRE SPRINKLERS - BEVERLY	2013	16,686	607	27.5	607		4,021	11
12 BOILER REBUILD - BEVERLY	2013	8,550	311	27.5	311		2,009	12
13 INSTALL DOOR PACKAGE ON 3 ELEVATORS - BEVERLY	2013	36,000	1,309	27.5	1,309		8,127	13
14 WALK IN FREEZER NEW CONDENSING UNIT - BEVERLY	2013	7,307	266	27.5	266		1,651	14
15	2012	0.300	411		1 214	002	0.100	15
16 COMM AWNING WITH NAME	2013	9,200	411	7	1,314	903	9,198	16
17								17
18	2014	10 070	/57	27.5	(57		2.750	18
19 REPLACE ELEVATOR ENCODER & MACHINE BEARINGS 20	2014	18,060	657	27.5	657		3,750	19
	2014	9,998	364	27.5	364		2,078	21
IST TEOOR BITT RIVE GERBS WHEELS; BOOKS & GUIRDS	2014	20.810	757	27.5	757		4.321	22
22 IST FLOOR - REMOVE VCT AND INSTALL CARPET TILE 23 LORRY - REMOVE WALL AND INSTALL NEW CLASS	2014	20,010	131	21.3	131		4,521	23
LODDI - REMOVE WALL AND INSTALL NEW GLASS	2014	87,162	3,170	27.5	3,170		18,095	24
24 WALL, DOORS AND ACOUSTICAL CEILING 25 IST FLR VESTIBULE, RECEPTION SECURITY STATION	2014	07,102	3,170	27.5	3,170		10,073	25
26 AND CORRIDOR - PAINT , WALL COVERING & SIGNAGE	2014	21,335	776	27.5	776		4,430	26
27 1ST FLR VESTIBULE, RECEPTION SECURITY STATION	2011	21,000	770	2710	770		1,100	27
28 AND CORRIDOR - MILL WORK, ELCTRICAL	2014	10,083	367	27.5	367		2,095	28
29 ELEVATOR - WALLCOVERING AND NEW CEILING	2014	24,569	893	27.5	893		5,098	29
30 REFRESHMENT STAND	2014	2,500	91	27.5	91		519	30
31 GUEST BATHRMS & SMOKING PATIO - DOORS & FRAME	2014	8,657	315	27.5	315		1,798	31
32 2ND FLOOR - REBUILD 2 TUB ROOMS	2014	30,531	1,110	27.5	1,110		6,244	32
33		•	·		,		,	33
34 TOTAL (lines 1 thru 33)		\$ 19,552,370	\$ 703,691		\$ 704,594	\$ 903	\$ 9,753,171	34

<sup>\*\*</sup>Improvement type must be detailed in order for the cost report to be considered complete.

Report Period Beginning: 1/1/2019 Ending: Page 12C 12/31/2019

#### XI. OWNERSHIP COSTS (continued)

B. Building and Improvement Costs-Including Fixed Equipment. (See instructions.) Round all numbers to nearest dollar.

1	3	4	5	6	7	8	9	$\top$
	Year		Current Book	Life	Straight Line		Accumulated	
Improvement Type**	Constructed	Cost	Depreciation	in Years	Depreciation	Adjustments	Depreciation	
1 Totals from Page 12B, Carried Forward		\$ 19,552,370	<b>\$</b> 703,691		\$ 704,594	\$ 903	\$ 9,753,171	1
2 SMOKING PATIO - REMOVE OLD FLR AND WALL AND								2
3 INSTALL NEW FLOOR AND WALLS	2014	5,037	183	27.5	183		1,045	3
4 NURSES STATION - NURSES STATION, ELECTRICAL,								4
5 BUILT IN CABINETS AND COUNTER TOPS	2014	27,118	986	27.5	986		5,628	5
6 2ND FLOOR CORRIDOR & GREAT ROOM - NEW								6
7 ACOUSTICAL CEILING & LIGHTING	2014	26,708	971	27.5	971		5,543	7
8 2ND FLOOR GREAT ROOM - REMOVE OLD GLASS WALL								8
9 INSTALL NEW STUD WALL	2014	5,700	207	27.5	207		1,182	9
10 2ND FLOOR CORRIDOR & GREAT ROOM - WALL								10
11 COVERINGS	2014	25,444	925	27.5	925		5,280	11
12 2ND FLOOR - VCT AND COVE BASE REMOVAL AND								12
OF NEW FLOORING AND CHAIR RAILS	2014	45,077	1,639	27.5	1,639		9,356	13
14 3RD FLOOR - DEMOLISH & REBUILD THE SHOWER	2014	16,540	601	27.5	601		3,331	14
15 AREAS IN BOTH 3RD FLOOR TUB RMS.REBUILD								15
16 INCLUDES TILES, PLUMBING FIXTURES, AND TRIMS		~~~						16
17 ALL WINDOWS OF BUILDING TO BE RECAULKED	2014	30,880	1,123	27.5	1,123		5,943	17
18 FIRE SPRINKLERS - ELEVATOR AND SECOND FLOOR	2014	8,600	313	27.5	313		1,630	18
19 18 SMOKE DETECT ELEVATOR & VARIOUS LOCATION	2014	3,191	116	27.5	116		614	19
20 CONCRETE PILLARS	2014	6,800	247	27.5	247		1,286	20
21 INSTALL 2 DAMPERS ON THE MAIN AIR SUPPLY AND	2014	5,480	199	27.5	199		1,036	21
22 RETURN DUCTS	2014	11.734	437	27.5	426		2 102	22
23 INSTALL NEW BOILER SECTIONS	2014	11,724	426	27.5			2,183	23
24 4 TH FLOOR TUB ROOM REMOVE OLD FLOOR AND	2014	4,430	161	27.5	161		852	24
25 DRAIN INSTALL NEW 26 AWNING	2014	6,520	237	27.5	237		1,294	26
26 AWNING 27	2014	0,520	231	21.3	231		1,294	27
28 1ST FLOOR THERAPY ROOM								28
	2015	13,694	498	27.5	498		2,386	29
REMOVILE OF EMBINIO COVE BASE & VCI	2013	13,074	770	21.3	7/0		2,300	30
THE CHISTREE OF THE WATER CHIRE								31
31 FLOORING & COVE BASE 32 FRAME NEW WALLS FOR VESTIBULE, STORAGE,	2015	10,992	400	27.5	400		1,916	32
33 AND WORK STATION, PROVIDE SEPARATE	2013	10,772	700	27.3	400		1,710	33
34 TOTAL (lines 1 thru 33)		\$ 19,806,305	\$ 712,923		\$ 713,826	\$ 903	\$ 9,803,676	34
57 1017E (mics 1 till u 55)		φ 17,000,503	Ψ /12,723		113,020	Ψ /03	9,003,070	34

<sup>\*\*</sup>Improvement type must be detailed in order for the cost report to be considered complete.

0052035 Report Period Beginning:

1/1/2019 Ending: 12/31/2

Page 12D 12/31/2019

#### XI. OWNERSHIP COSTS (continued)

B. Building and Improvement Costs-Including Fixed Equipment. (See instructions.) Round all numbers to nearest dollar.

1	3	4	5	6	7	8	9	
	Year		Current Book	Life	Straight Line		Accumulated	
Improvement Type**	Constructed	Cost	Depreciation	in Years	Depreciation	Adjustments	Depreciation	
1 Totals from Page 12C, Carried Forward		\$ 19,806,305	\$ 712,923		\$ 713,826	\$ 903	\$ 9,803,676	1
2 SWITCHING FOR VESTIBULE LIGHTING AND								2
3 6 NEW OUTLETS AND INSTALL DRYWALL,								3
4 TAPE JOINTS, SMOOTH AND PRIME READY FOR								4
5 FINISHES								5
6 FURNISH & INSTALL NEW CEILING & LIGHTING	2015	15,140	551	27.5	551		2,640	6
7 CEILING TO BE 2X2 FIRE RATED LIGHTING TO BE		·						7
8 DIRECT INDIRECT RECESSED LIGHTING								8
9 PREP WALLS, INSTALL WALLCOVERING & PAINT	2015	4,569	202	7	202		2,487	9
10 MIRROR WALL 16'11"W X 8'H WITH	2015	2,640	96	27.5	96		460	10
11 CRACK ISOLATION MEMBRANE								11
12 CUSTOM CHARTING STATION WITH 4 LOCKING	2015	9,780	355	27.5	355		1,702	12
13 UPPER CABINETS, 3 PEDESTALS 2 LATERAL FILES								13
14 LAMINATED TOP WITH GRANITE TRANS TOP	A () 1 F	F 444	40.4		101			14
15 FREIGHT & TAX FOR THERAPY ROOM PROJECT	2015	5,330	194	27.5	194		929	15
16 BUILD WALL WITH DOOR OPENING FOR NEW	2015	4,270	155	27.5	155		743	16
17 THERAPY RM, INSTALL NEW DRY WALL, TAPE								17
18 JOINTS, SAND SMOOTH & PRIME, INSTALL PAIR								18
19 OF DOUBLE DOORS	2015	( 254	200		200		2.459	19
20 WINDOW TREATMENTS -CORNICE ROLLER SHADE 21 CURICLE CURTAINS WITH SUSPENDED TRACK	2015 2015	6,354 1,920	280 88	/	280 88		3,458 1,047	20
CODICEE CONTAINS WITH SOST ENDED TRACK	2015	6,796	307	7	307		3,705	21
SIGNAGE ON ENTRY & THERMIT I RECEIT HOW THEEL	2015	0,790	307	/	307		3,703	23
SECONTI SISTEMIN ZIND LEGGN TO THI LOGN	2015	24,564	893	27.5	893		3,832	24
24 STAIR WELL DOORS 25 INSTALLED AS PER CODE ONE ROPE GRIPPER.	2016	36,711	1,335	27.5	1,335		5,062	25
26 SERVICE ELEVATOR- FURNISHED AND INSTALLED NEW		,				A.D.	3,002	26
27 ADJUST AND RETURN CAR TO SERVICE	2016	5,300	LEFAIRED PLY W 193	27.5	I 193	AR	732	27
28 ROOM 212 AND ROOM 214- REMOVE PLUMBING FIXTURE		,			_, _	NC	752	28
29 INSIDE WALLS AND PLUG TOILET DRAINS. REMOVE OVE								29
30 AND WALL BETWEEN TWO ROOMS. REMOVE AND RERO								30
31 AWININGS		J LLECTRIC AT LE	TO THE REMOV	TILL, I II CII	SHIP WILLS	4 1 1		31
32								32
33								33
34 TOTAL (lines 1 thru 33)		\$ 19,929,679	\$ 717,572		\$ 718,475	\$ 903	\$ 9,830,473	34

<sup>\*\*</sup>Improvement type must be detailed in order for the cost report to be considered complete.

XI. OWNERSHIP COSTS (continued)

B. Building and Improvement Costs-Including Fixed Equipment. (See instructions.) Round all numbers to nearest dollar.

1	3	4	5	6	7	8	9	$\top$
	Year		Current Book	Life	Straight Line		Accumulated	
Improvement Type**	Constructed	Cost	Depreciation	in Years	Depreciation	Adjustments	Depreciation	
1 Totals from Page 12D, Carried Forward		<b>\$</b> 19,929,679	<b>\$</b> 717,572		<b>\$</b> 718,475	\$ 903	\$ 9,830,473	1
2 WALLS REMOVAL, PREP FOR NEW FINISHES, NURSE CAL	LS BY OTHE	RS. FURNISH & INS	TALL NEW DOO	R & FRAME	FOR NEW STOR	A(		2
3 CLOSET.	2016	14,987	545	27.5	545		1,976	3
4 MODIFY FIRE SPRINKLERS, REMOVE EXISTING LINES FO	R DEMO OF	THE WALL BETWE	EN ROOM 212 &	<b>ROOM 214.</b>	INSTALL 6 NEW			4
5 HEADS IN THE MIDDLE OF THE ROOM, REMOVE EXISTIN	G LINES FOR	DEMO OF THE BA	THROOM AND V	VARDROBE	<b>CLOSETS. ADD 2</b>	N.		5
6 HEADS UNDER THE SOFFIT	2016	10,332	376	27.5	376		1,363	6
7 ROOMS 212 AND 214- EXISTING COVE BASE AND VCT REM	IOVAL, PREP	FLOOR AND VCT1	AND VCT2 INST.	ALLATION,	CUSTOM PVT			7
8 INSTALLATION, MILLWORK BASE INSTALLATION	2016	3,467	126	27.5	126		457	8
9 ROOM 212 AND 214- WINDOW TREATMENTS INCLUDING 2							10.2	9
10 INSTALLATION	2016	3,094	112	27.5	112		406	10
11	2017	F 050	205		205		1.200	11
12 AWININGS	2016	5,950	397	15	397		1,390	12
13 INSTALLED NEW CEILING TILE AND LIGHTS; REMOVE A	2016	4,677	170	27.5	170		616	13
14 REPLACE EXISTING DOOR	2016	2,540	92	27.5	92		280	14 15
15 EXTEND WALL IN PHYSICAL THERAPY ROOM TO MEET	2010	2,540	92	21.3	92		200	16
16 THE EXTERIOR GLASS WALL. 17 REPLACEMENT OF SIDEWALK IN REAR PARK OF THE BU	2017	4,800	320	15	320		800	17
18 SIDEWALK REMOVAL AND REPAIR AT THE REAR OF THE	2017	5,600	373	15	373		933	18
19 REMOVE AND REPLACE REAE CONCRETE STAIRS	2017	7,950	530	15	530		1,325	19
20 EJECTOR PUMP REPLACEMENT: EXISTING PUMP HAS A	2017	8,900	324	27.5	324		824	20
21 BAD PUMP MOTOR AND PUMPHOUSING BOLTING IS								21
22 STRIPPED PREVENTING PUMP FROM PRIMING, ALSO								22
23 FLOAT SYSTEM USED FOR BOTH PUMPS HAS FAILED ANI	)							23
24 REQUIRED REPLACEMENT TO PROVIDE AND REPLACE T								24
25 LEFT PUMP WITH A NEW OF EQUAL SIZE AND APPLICAT								25
26 ALSO REPLACE THE PIPING CIRCUIT, THE GATE VALVE,								26
27 CHECK VALVE AND FLOAT BALL W/ROD								27
28 8 FEET TALL CEDAR FENCE	2018	13,500	900	15	900		1,350	28
29 INSTALL ELEVATOR DOOR EQUIPMENT	2019	26,711	607	27.5	607		607	29
30 PARKIN LOT-REPLACE CONCRETE/ASPHALT, SEAL COAT	2019	11,074	369	15	369		369	30
31 PAINTING COMMON AREA/BATHROOMS, HANDRAILS	2019	20,825	2,083	5	2,083		2,083	31
32 NORTH WING ROOF-APPLIED AN ELASTOMERIC COATIN	2019	22,950	383	27.5	383		383	32
33 2ND,3RD,4TH,5TH,6TH,7TH FLOOR-WINDOW TREATMENT	2019	88,159	8,816	5	8,816	002	8,816	33
34 TOTAL (lines 1 thru 33)		\$ 20,185,195	\$ 734,095		\$ 734,998	\$ 903	\$ 9,854,451	34

<sup>\*\*</sup>Improvement type must be detailed in order for the cost report to be considered complete.

#### XI. OWNERSHIP COSTS (continued)

C. Equipment Costs-Excluding Transportation. (See instructions.)

	Category of	1	Current Book	Straight Line	4	Component	Accumulated	
	Equipment	Cost	Depreciation 2	Depreciation 3	Adjustments	Life 5	Depreciation 6	
71	Purchased in Prior Years	\$ 436,477	\$ 16,538	\$ 43,648	\$ 27,110	10 YRS	\$ 165,968	71
72	<b>Current Year Purchases</b>	8,950	8,950	448	(8,502)	10 YRS	448	72
73	Fully Depreciated Assets	775,564					775,564	73
74	RELATED PARTY		129,243	129,243				74
75	TOTALS	\$ 1,220,991	\$ 154,731	\$ 173,339	\$ 18,608		\$ 941,980	75

#### D. Vehicle Costs. (See instructions.)\*

	1	Model, Make	Year	4	Current Book	Straight Line	7	Life in	Accumulated	
	Use	and Year 2	Acquired 3	Cost	Depreciation 5	Depreciation 6	Adjustments	Years 8	Depreciation 9	
76				\$	\$	\$	\$		\$	76
77										77
78										78
79										79
80	TOTALS			\$	\$	\$	\$		\$	80

#### E. Summary of Care-Related Assets

	· · · · · · · · · · · · · · · · · · ·			
		Reference	Amount	
81	Total Historical Cost	(line 3, col.4 + line 70, col.4 + line 75, col.1 + line 80, col.4) + (Pages 12B thru 12I, if applicable)	\$ 22,906,186	81
82	Current Book Depreciation	(line 70, col.5 + line 75, col.2 + line 80, col.5) + (Pages 12B thru 12I, if applicable)	\$ 888,826	82
83	Straight Line Depreciation	(line 70, col.7 + line 75, col.3 + line 80, col.6) + (Pages 12B thru 12I, if applicable)	\$ 908,337	83 **
84	Adjustments	(line 70, col.8 + line 75, col.4 + line 80, col.7) + (Pages 12B thru 12I, if applicable)	\$ 19,511	84
85	Accumulated Depreciation	(line 70, col.9 + line 75, col.6 + line 80, col.9) + (Pages 12B thru 12I, if applicable)	\$ 10,796,431	85

#### F. Depreciable Non-Care Assets Included in General Ledger. (See instructions.)

	1	2	Current Book	Accumulated	
	Description & Year Acquired	Cost	Depreciation 3	Depreciation 4	
86		\$	\$	\$	86
87					87
88					88
89					89
90					90
91	TOTALS	\$	\$	\$	91

#### **G.** Construction-in-Progress

	Description	Cost	
92		\$	92
93			93
94			94
95		\$	95

Vehicles used to transport residents to & from day training must be recorded in XI-F, not XI-D.

This must agree with Schedule V line 30, column 8.

		1 age 14
9	Ending:	12/31/2019

VII	DEN	TAL	CO	STS
AII.		$\mathbf{H}\mathbf{A}\mathbf{L}$	$\mathbf{v}$	מ ב כוי

- A. Building and Fixed Equipment (See instructions.)
- 1. Name of Party Holding Lease: N/A RELATED PARTY
- 2. Does the facility also pay real estate taxes in addition to rental amount shown below on line 7, column 4? If NO, see instructions. YES NO

		1	2	3	4	5	6	
		Year	Number	Original	Rental	<b>Total Years</b>	Total Years	
		Constructed	of Beds	Lease Date	Amount	of Lease	Renewal Option*	
	Original							
3	<b>Building:</b>				\$			3
4	Additions							4
5								5
6								6
7	TOTAL				\$			7

u. Enective	aates of current re	entai agreement
Beginning		
Ending		

11. Rent to be paid in future years under the current rental agreement:

Fiscal Year Ending	Annual Rent
12.	\$
13.	\$
14.	\$

8. List separately any amortization of lease expense included on page 4, line 34. This amount was calculated by dividing the total amount to be amortized

by the length of the lease

- 9. Option to Buy: YES NO Terms:
- B. Equipment-Excluding Transportation and Fixed Equipment. (See instructions.)

15. Is Movable equipment rental included in building rental? YES 16. Rental Amount for movable equipment: \$ 11,961

**Description:** SEE ATTACHED SCHEDULE

(Attach a schedule detailing the breakdown of movable equipment)

#### C. Vehicle Rental (See instructions.)

	1	2 Model Year	N	3 Monthly Lease	4 Rental Expense	
	Use	and Make		Payment	for this Period	
17	FACILITY VAN	2019 FORD E350	\$	847.77	\$ 11,573	17
18						18
19						19
20						20
21	TOTAL		\$	847.77	\$ 11,573	21

- \* If there is an option to buy the building, please provide complete details on attached schedule.
- \*\* This amount plus any amortization of lease expense must agree with page 4, line 34.

	$\mathbf{S}$	TATE OF ILLINOIS					Page 15
Facility Name & ID Number	BRIA OF FOREST EDGE	#	0052035	Report Period Beginning:	1/1/2019	<b>Ending:</b>	12/31/201
XIII. EXPENSES RELATING TO CER	TIFIED NURSE AIDE (CNA) TRAINING PROGRAMS (See	instructions.)					

1. HAVE YOU TRAINED CNAS DURING THIS REPORT	YES	2.	CLASSROOM PORTION:	 3.	CLINICAL PORTION:	
PERIOD?	X NO		IN-HOUSE PROGRAM		IN-HOUSE PROGRAM	
			IN OTHER FACILITY		IN OTHER FACILITY	
If "yes", please complete the remainder of this schedule. If "no", provide an			COMMUNITY COLLEGE		HOURS PER CNA	
explanation as to why this training was not necessary.			HOURS PER CNA			

(d)

### B. EXPENSES ALLOCATION OF COSTS

1 2 3 4

			Fa	cility		
			Drop-outs	Completed	Contract	Total
	Community College Tuition		\$	\$	\$	\$
2	Books and Supplies					
3	Classroom Wages	(a)				
	Clinical Wages	<b>(b)</b>				
5	In-House Trainer Wages	(c)				
6	Transportation					
	Contractual Payments					
8	CNA Competency Tests					
9	TOTALS		\$	\$	\$	\$
10	SUM OF line 9, col. 1 and 2	(e)	\$			

#### C. CONTRACTUAL INCOME

In the box below record the amount of income your facility received training CNAs from other facilities.

,			
•			

#### D. NUMBER OF CNAs TRAINED

COMPLETED	
1. From this facility	
2. From other facilities (f)	
DROP-OUTS	
1. From this facility	
2. From other facilities (f)	
TOTAL TRAINED	

- (a) Include wages paid during the classroom portion of training. Do not include fringe benefits.
- (b) Include wages paid during the clinical portion of training. Do not include fringe benefits.
- (c) For in-house training programs only. Do not include fringe benefits.
- (d) Allocate based on if the CNA is from your facility or is being contracted to be trained in your facility. Drop-out costs can only be for costs incurred by your own CNAs.

- (e) The total amount of Drop-out and Completed Costs for your own CNAs must agree with Sch. V, line 13, col. 8.
- (f) Attach a schedule of the facility names and addresses of those facilities for which you trained CNAs.

STATE OF ILLINOIS

Page 16 **Facility Name & ID Number BRIA OF FOREST EDGE** # 0052035 **Report Period Beginning:** 1/1/2019 **Ending:** 12/31/2019

#### XIV. SPECIAL SERVICES (Direct Cost) (See instructions.)

		1	2	3	4	5	6	7	8	
		Schedule V	Staf	f	Outside Practitioner		Supplies			
	Service	Line & Column	Units of	Cost	(other t	han consultant)	(Actual or)	<b>Total Units</b>	<b>Total Cost</b>	
		Reference	Service		Units	Cost	Allocated)	(Column 2 + 4)	(Col. $3 + 5 + 6$ )	
1	Licensed Occupational Therapist	39-3	hrs	\$		\$ 353,817	\$		\$ 353,817	1
	Licensed Speech and Language									
2	Development Therapist	39-3	hrs			102,737			102,737	2
3	Licensed Recreational Therapist		hrs							3
4	Licensed Physical Therapist	39-3	hrs			311,496			311,496	4
5	Physician Care		visits							5
6	Dental Care		visits							6
7	Work Related Program		hrs							7
8	Habilitation		hrs							8
			# of							
9	Pharmacy	39-2	prescrpts				56,240		56,240	9
	Psychological Services									
	(Evaluation and Diagnosis/									
10	Behavior Modification)		hrs							10
11	<b>Academic Education</b>		hrs							11
12	Other (specify):									12
	MED.SUPPLIES/LAB/RADIOLOGY						18,322		18,322	
13	Other (specify): IV THERAPY						8,925		8,925	13
14	TOTAL			\$		\$ 768,050	\$ 83,487		\$ 851,537	14

NOTE: This schedule should include fees (other than consultant fees) paid to licensed practitioners. Consultant fees should be detailed on Schedule XVIII-B. Salaries of unlicensed practitioners, such as CNAs, who help with the above activities should not be listed on this schedule.

**Facility Name & ID Number BRIA OF FOREST EDGE** XV. BALANCE SHEET - Unrestricted Operating Fund.

12/31/2019 (last day of reporting year) As of

This report must be completed even if financial statements are attached.

	This report must be completed even	1		2 After	
		0	perating	Consolidation*	
	A. Current Assets				
1	Cash on Hand and in Banks	\$	19,548	\$	1
2	Cash-Patient Deposits				2
	Accounts & Short-Term Notes Receivable-				
3	Patients (less allowance 787,000)		5,182,608		3
4	Supply Inventory (priced at )				4
5	Short-Term Investments				5
6	Prepaid Insurance		277,850		6
7	Other Prepaid Expenses				7
8	Accounts Receivable (owners or related parties)		291,485		8
9	Other(specify):				9
	TOTAL Current Assets				
10	(sum of lines 1 thru 9)	\$	5,771,491	\$	10
	B. Long-Term Assets				•
11	Long-Term Notes Receivable				11
12	Long-Term Investments				12
13	Land				13
14	Buildings, at Historical Cost				14
15	Leasehold Improvements, at Historical Cost				15
16	Equipment, at Historical Cost		474,266		16
17	Accumulated Depreciation (book methods)		(447,609)		17
18	Deferred Charges				18
19	Organization & Pre-Operating Costs				19
	Accumulated Amortization -				
20	Organization & Pre-Operating Costs				20
21	Restricted Funds				21
22	Other Long-Term Assets (specify):				22
23	Other(specify): Due From Presidential Pavilio	n	896,470		23
	TOTAL Long-Term Assets				
24	(sum of lines 11 thru 23)	\$	923,127	\$	24
	TOTAL ASSETS				
25	(sum of lines 10 and 24)	\$	6,694,618	\$	25

		1 0	perating	2 After Consolidation*	
	C. Current Liabilities				
26	Accounts Payable	\$	1,623,548	\$	26
27	Officer's Accounts Payable				27
28	Accounts Payable-Patient Deposits				28
29	Short-Term Notes Payable		700,000		29
30	Accrued Salaries Payable		200,281		30
	Accrued Taxes Payable				
31	(excluding real estate taxes)		24,751		31
32	Accrued Real Estate Taxes(Sch.IX-B)				32
33	Accrued Interest Payable				33
34	Deferred Compensation				34
35	Federal and State Income Taxes				35
	Other Current Liabilities(specify):				
36	PA LOAN		1,549,200		36
37					37
	TOTAL Current Liabilities				
38	(sum of lines 26 thru 37)	\$	4,097,780	\$	38
	D. Long-Term Liabilities				
39	Long-Term Notes Payable		229,893		39
40	Mortgage Payable				40
41	Bonds Payable				41
42	Deferred Compensation				42
	Other Long-Term Liabilities(specify):				
43					43
44					<b>4</b> 4
	TOTAL Long-Term Liabilities				
45	(sum of lines 39 thru 44)	\$	229,893	\$	45
	TOTAL LIABILITIES				
46	(sum of lines 38 and 45)	\$	4,327,673	\$	46
47	TOTAL EQUITY(page 18, line 24)	\$	2,366,945	\$	47
40	TOTAL LIABILITIES AND EQUITY				,,
48	(sum of lines 46 and 47)	\$	6,694,618	\$	48

	IANGES IN EQUIT I			
			1 Total	
1	Balance at Beginning of Year, as Previously Reported	\$	1,663,878	1
2	Restatements (describe):	1		2
3				3
4				4
5				5
6	Balance at Beginning of Year, as Restated (sum of lines 1-5)	\$	1,663,878	6
	A. Additions (deductions):			
7	NET Income (Loss) (from page 19, line 43)		1,228,067	7
8	Aquisitions of Pooled Companies			8
9	Proceeds from Sale of Stock			9
10	Stock Options Exercised			10
11	Contributions and Grants			11
12	Expenditures for Specific Purposes			12
13	Dividends Paid or Other Distributions to Owners		(525,000)	13
14	Donated Property, Plant, and Equipment			14
15	Other (describe)			15
16	Other (describe)			16
17	TOTAL Additions (deductions) (sum of lines 7-16)	\$	703,067	17
	B. Transfers (Itemize):			
18				18
19				19
20				20
21				21
22				22
23	TOTAL Transfers (sum of lines 18-22)	\$	·	23
24	BALANCE AT END OF YEAR (sum of lines 6 + 17 + 23)	\$	2,366,945	24

<sup>\*</sup> This must agree with page 17, line 47.

# 0052035 **Report Period Beginning:** 1/1/2019 XVII. INCOME STATEMENT (attach any explanatory footnotes necessary to reconcile this schedule to Schedules V and VI.) All required classifications of revenue and expense must be provided on this form, even if financial statements are attached. Note: This schedule should show gross revenue and expenses. Do not net revenue against expense

			1	
	I. Revenue		Amount	
	A. Inpatient Care			
1	Gross Revenue All Levels of Care	\$	19,190,622	1
2	Discounts and Allowances for all Levels	(	)	2
3	SUBTOTAL Inpatient Care (line 1 minus line 2)	\$	19,190,622	3
	B. Ancillary Revenue			
4	Day Care			4
5	Other Care for Outpatients			5
6	Therapy			6
7	Oxygen			7
8	SUBTOTAL Ancillary Revenue (lines 4 thru 7)	\$		8
	C. Other Operating Revenue			
9	Payments for Education			9
10				10
11	CNA Training Reimbursements			11
12				12
13	Barber and Beauty Care			13
14	Non-Patient Meals			14
15				15
16	Rental of Facility Space			16
17	Sale of Drugs			17
18	Sale of Supplies to Non-Patients			18
19	Laboratory			19
20	Radiology and X-Ray			20
21	Other Medical Services			21
22	Laundry			22
23	SUBTOTAL Other Operating Revenue (lines 9 thru 22)	\$		23
	D. Non-Operating Revenue			
24	Contributions			24
25	Interest and Other Investment Income***		12,450	25
26	SUBTOTAL Non-Operating Revenue (lines 24 and 25)	\$	12,450	26
	E. Other Revenue (specify):****			
27	Settlement Income (Insurance, Legal, Etc.)			27
28				28
28a				28a
29	SUBTOTAL Other Revenue (lines 27, 28 and 28a)	\$		29
30	TOTAL REVENUE (sum of lines 3, 8, 23, 26 and 29)	\$	19,203,072	30

	o against expense	2	
	II. Expenses	Amount	
	A. Operating Expenses		
31	General Services	3,774,192	31
32	Health Care	6,112,647	32
33	General Administration	4,051,398	33
	B. Capital Expense		
34	Ownership	2,457,112	34
	C. Ancillary Expense		
35	Special Cost Centers	851,537	35
36	Provider Participation Fee	728,119	36
	D. Other Expenses (specify):		
37			37
38			38
39			39
40	TOTAL EXPENSES (sum of lines 31 thru 39)*	\$ 17,975,005	40
41	Income before Income Taxes (line 30 minus line 40)**	1,228,067	41
42	Income Taxes		42
43	NET INCOME OR LOSS FOR THE YEAR (line 41 minus line 42)	\$ 1,228,067	43

	III. Net Inpatient Revenue detailed by Payer Source		
	Medicaid - Net Inpatient Revenue	\$ 16,446,119	44
	Private Pay - Net Inpatient Revenue	2,340	45
	Medicare - Net Inpatient Revenue	2,312,232	46
	Other-(specify) HOSPICE/INSURANCE/ETC	102,354	47
48	Other-(specify) MANAGED CARE	327,577	48
49	TOTAL Inpatient Care Revenue (This total must agree to Line 3)	\$ 19,190,622	49

\*\*TAX RETURN PREPARED ON

This must agree with page 4, line 45, column 4.

CASH BASIS

Does this agree with taxable income (loss) per Federal Income If not, please attach a reconciliation. Tax Return?

<sup>\*\*\*</sup> See the instructions. If this total amount has not been offset against interest expense on Schedule V, line 32, please include a detailed explanation.

<sup>\*\*\*\*</sup>Provide a detailed breakdown of "Other Revenue" on an attached sheet.

XVIII. A. STAFFING AND SALARY COSTS (Please report each line separately.)

(This schedule must cover the entire reporting period.)

1 2\*\* 3 4

		<u> </u>	Z^^	3	4	
		# of Hrs.	# of Hrs.	Reporting Period	Average	
		Actually	Paid and	Total Salaries,	Hourly	
		Worked	Accrued	Wages	Wage	
1	Director of Nursing	1,828	2,020	\$ 134,990	\$ 66.83	1
2	Assistant Director of Nursing	1,961	2,089	79,558	38.08	2
3	Registered Nurses	22,537	23,446	797,594	34.02	3
4	Licensed Practical Nurses	48,357	50,701	1,415,451	27.92	4
5	CNAs & Orderlies	138,881	148,944	2,110,659	14.17	5
6	CNA Trainees					6
7	Licensed Therapist					7
8	Rehab/Therapy Aides					8
9	Activity Director					9
10	Activity Assistants	16,427	17,806	241,449	13.56	10
11	Social Service Workers	21,726	23,030	409,965	17.80	11
12	Dietician					12
13	Food Service Supervisor					13
14	Head Cook					14
15	Cook Helpers/Assistants					15
16	Dishwashers					16
17	Maintenance Workers	6,610	7,408	143,181	19.33	17
18	Housekeepers					18
	Laundry					19
20	Administrator	3,896	4,160	194,612	46.78	20
21	Assistant Administrator					21
22	Other Administrative					22
23	Office Manager					23
24	Clerical	18,882	20,089	402,964	20.06	24
25	Vocational Instruction					25
26	Academic Instruction					26
27	Medical Director					27
28	Qualified MR Prof. (QMRP)					28
29	Resident Services Coordinator					29
30	Habilitation Aides (DD Homes)					30
31	Medical Records	5,535	5,933	95,769	16.14	31
32	Other Health Ca Care Plan Coord	11,667	12,619	488,855	38.74	32
33	Other(specify) Security	26,338	28,484	385,576	13.54	33
34	TOTAL (lines 1 - 33)	324,645	346,729	\$ 6,900,623 *	\$ 19.90	34

<sup>\*</sup> This total must agree with page 4, column 1, line 45.

#### **B. CONSULTANT SERVICES**

		1		2	3	
		Number	Total	Consultant	Schedule V	
		of Hrs.		Cost for	Line &	
		Paid &	I	Reporting	Column	
		Accrued		Period	Reference	
35	Dietary Consultant	M	\$	0	1-3	35
36	Medical Director	0		30,000	9-3	36
37	Medical Records Consultant	N		0	10-3	37
38	Nurse Consultant	T		6,000	10-3	38
39	Pharmacist Consultant	H		20,033	10-3	39
40	Physical Therapy Consultant	L		29,240	10a-3	40
41	Occupational Therapy Consultant	Y		33,823	10a-3	41
42	Respiratory Therapy Consultant			6,054	10a-3	42
43	Speech Therapy Consultant	F		7,372	10a-3	43
44	Activity Consultant	E		352	11-3	44
45	Social Service Consultant	E		512	12-3	45
46	Other(specify)	S				46
47						47
48						48
				_		
49	TOTAL (lines 35 - 48)		\$	133,386		49

#### C. CONTRACT NURSES

		1	2	3	
		Number		Schedule V	
		of Hrs.	Total	Line &	
		Paid &	Contract	Column	
		Accrued	Wages	Reference	
50	Registered Nurses		\$	10-3	50
51	Licensed Practical Nurses			10-3	51
52	Certified Nurse Assistants/Aides		N/A	10-3	52
53	TOTAL (lines 50 - 52)		\$		53

<sup>\*\*</sup> See instructions.

	STATE OF ILLINOIS			Page 21		
#	0052035	Report Period Beginning:	1/1/2019	Ending:	12/31/2019	

						ATE OF ILLINOIS						ge 21
	RIA OF FOREST E	DGE			#_0	052035	Repo	ort Period Begi	inning: 1/	/1/2019	Ending:	12/31/2019
XIX. SUPPORT SCHEDULES												
A. Administrative Salaries		Ownershi	p		D. Employee Benefits and Payroll Taxes		F. Dues, Fees, Subscriptions and Promotions					
Name	Function	%	Φ.	Amount		scription	Φ.	Amount		escription		Amount
JANET OLADELE	ADMINISTRATOR		_ \$_	121,245	Workers' Compensation		\$_	135,132	IDPH License		\$	1,990
JULIE KOSMAN	ADMINISTRATOR	0		73,367	Unemployment Compen	sation Insurance		55,250		Employee Recruitm		21,216
					FICA Taxes			523,658		Worker Backgroun		1,920
					Employee Health Insura	nce	_	272,994	`	checks performed	19	
					<b>Employee Meals</b>		_	0	Patient Backg		32	4,495
					Illinois Municipal Retire		_			NCHISE/CONTRI	B/ETC	24,420
					EMPLOYEE BENEFIT		_	17,032		G/ADV/PROMO		7,959
TOTAL (agree to Schedule V, line 1					EMPLOYEE PHYSICA			0		UES/SUBSCRIPT	IONS	23,748
(List each licensed administrator sep	parately.)		\$	194,612	PENSION/PROFIT SHA			0	MGMT CO A			923
B. Administrative - Other					INSURANCE - EXECU	TIVE LIFE	_	0		NCHISE/CONTRI		(24,420)
							_			<b>Relations Expense</b>		0
Description				Amount			_			lowable advertising	<u>,</u>	(7,959)
BRIA HEALTH CARE SERVICE N	MANAGEMENT FI	EES	_ \$_	860,500	INSURANCE - EXECU	FIVE LIFE VI 2	<u> </u>	0	Yellow	page advertising	(	0
					TOTAL (agree to Sched	ule V	\$	1,004,066	T	OTAL (agree to Sc	·h V S	54,292
					line 22, col.8)	uic v,	Ψ=	1,001,000	_	line 20, col. 8		31,272
TOTAL (agree to Schedule V, line 1	7 col 3)			860,500	E. Schedule of Non-Cash	Compensation Paid			G Schedule o	of Travel and Semin		
(Attach a copy of any management s			Ψ=	000,500	to Owners or Employ	-			G. Schedule 0	1 11avel and Semin	141	
C. Professional Services	service agreement)				_ to Owners or Employ	ces			n	escription		Amount
Vendor/Payee	Type			Amount	Description	Line #		Amount	"	escription		Amount
ALPHA DATA	DATA PROCESS	INC	\$	1,823	Description	Line #	\$	Amount	Out-of-State	Fravel	S	
NATIONAL DATACARE CORP	DATA PROCESS		_	6,329			- <sup>-</sup> -		Out-or-State	Tavei		
PARAGON	DATA PROCESS			11,399								
KBKB LTD	ACCOUNTING	on vo		18,000					In-State Trav	ol.		
RICARD PEELO & ASSOCIATES		NOTIL TAN	T	4,500					III-State ITav	<u>cı</u>		11,236
PERSONNEL PLANNERS	UC CONSULTAN			12,200								11,230
RESOLUTE HEALTHCARE SOL	LTC MEDICAID		_						MGMT ALLO	<u> </u>		0.572
				300								9,573
FODOR ENGINEERING & DESIG				3,300					Seminar Expe	ense		
US HOUSING CONSULTANTS	PRE - REAC INS			8,888								0
ELEVATE ENERGY	BENCHMARK R	EPORTIN	<u>l</u> G	650								
SEE LEGAL SCHEDULE ATTACI	HFD			466,929					Entertainmen			
TOTAL (agree to Schedule V, line 1				700,747	TOTAL		2		Enter taininen	(agree to Sch. V	<u> </u>	
(For legal fee disclosure, see page 39			•	534,318	IVIAL		Φ=		TOTAL	line 24, col. 8)	*	20,809
Troi legal fee disclusure, see page 39	or men actions)		Φ_	334,310					IUIAL	11116 24, (01. 8)	J.	20,009

<sup>\*</sup> Attach copy of IMRF notifications

<sup>\*\*</sup>See instructions.

#### BRIA OF FOREST EDGE SCHEDULE-LEGAL 12/31/2019 INVOICE DATE

DULE-LEGAL 2019 NVOICE DATE	FIRM	DESCRIPTION	
11/15/2019 ADR	SYSTEMS SYSTEMS	OF SERVICE MEDIATION MEDIATION	1,958.00 4,890.00
1/2/2019 ALLE 1/13/2019 ALLE	GRO RECORD SOLUTIONS GRO RECORD SOLUTIONS	MEDICAL RECORD PROCESSING FEE MEDICAL RECORD PROCESSING FEE	73.50 73.50
2/4/2019 ALLE 2/14/2019 ALLE 4/4/2019 ALLE 4/10/2019 ALLE 5/9/2019 ALLE	GRO RECORD SOLUTIONS GRO RECORD SOLUTIONS GRO RECORD SOLUTIONS GRO RECORD SOLUTIONS GRO RECORD SOLUTIONS GRO RECORD SOLUTIONS GRO RECORD SOLUTIONS	MEDICAL RECORD PROCESSING FEE	73.50 73.50 73.50 73.50 73.50 73.50 73.50
11/27/2018 AND 1/22/2019 AND	ERSON RASOR & PARTNERS LLP ERSON RASOR & PARTNERS LLP	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	2 803 75
2/14/2019 AND 3/26/2019 AND 5/22/2019 AND	ERSON RASOR & PARTNERS LLP ERSON RASOR & PARTNERS LLP ERSON RASOR & PARTNERS LLP	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	360.50 1,453.00 931.50
5/21/2019 AND 7/18/2019 AND	ERSON RASOR & PARTNERS LLP ERSON RASOR & PARTNERS LLP	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	285.50 58.50
11/27/2019 AND 12/11/2019 AND	SEGON PAGES & PARTNESS LIP	DEFENSE OF LABILITY SUIT	945.00 360.50 1,453.00 931.50 286.50 58.50 78.00 351.00 97.50
8/3/2018 CAR 8/21/2018 CAR	DEN & SAX DEN & SAX	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	4,508.01 560.00
10/25/2018 CAR 11/25/2018 CAR	DEN & SAX DEN & SAX	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	100.00 4,197.50
8/3/2018 CAR 8/21/2018 CAR 9/12/2018 CAR 10/20/2018 CAR 11/20/2018 CAR 12/20/2018 CAR 12/1/2019 CAR 2/8/2019 CAR	DEN & SAX DEN & SAX	DEFENSE OF LABILITY SUIT	4,508.01 550.00 3,295.00 100.00 4,197.50 1,194.05 4,278.02 1,170.00
10/18/2019 CHU	BB GROUP OF INSURANCE CO	LEGAL SERVICES	109.00
828/2019 CUN 10/16/2019 CUN	NINGHAM, MEYER, & VEDRINE P.C. NINGHAM, MEYER, & VEDRINE P.C. NINGHAM, MEYER, & VEDRINE P.C.	FLING FEE LEGAL SETTLEMENT	457.00 3,802.50
10/30/2019 CUN 10/30/2019 CUN 11/15/2019 CUN	NRNGHAM, MEYER, & VEDRINE P.C. NRNGHAM, MEYER, & VEDRINE P.C.	LEGAL SETTLEMENT FILING FEE LEGAL SETTLEMENT FILING FEE LEGAL SERVICES FILING FEE LEGAL SERVICES	4,042.50 467.00 3,802.50 405.00 8,055.00 81.00 3,837.00
12/11/2019 CUN 8/20/2019 FEDI	NINGHAM, MEYER, & VEDRINE P.C ERAL INSURANCE COMPANY	LEGAL SERVICES LEGAL SETTLEMENT	3,837.00
8/22/2018 HEP! 9/19/2018 HEP!	LER BROOM LLC LER BROOM LLC	LEGAL SETTLEMENT LEGAL SETTLEMENT	
10/29/2018 HEP1 11/14/2018 HEP1 1/15/2019 HEP1	LER BROOM LLC LER BROOM LLC LER BROOM LLC LER BROOM LLC LER BROOM LLC	LEGAL SETTLEMENT LEGAL SETTLEMENT LEGAL SETTLEMENT LEGAL SETTLEMENT LEGAL SETTLEMENT	1,178.05 2,930.09 2,334.50 1,552.00 1,925.54
9/18/2019 JACH	ISON LEWIS P.C.	CONSULTATIONS	323.00
(2)(2)(2)(4)(4)	A S.G. PAYNE P.C. BULLETIN PUBLISHING CO	GUARDIANSHP EACT SEARCH	11,000.00
80 1200 MOC 00 100 MOC 00 100 MOC 00	AGE KRSHNER	CONTROL OF MARTY SATE  CONTROL OF MARTY SATE	
10/31/2018 MCC 11/30/2018 MCC	AGE KRSHNER AGE KRSHNER	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	73.50 10,380.50 5,300.00 2,300.00 1,500.00 1,500.00 2,300.00 2,300.00 1,500.00 1,500.00 2,300.00 1,500.00 2,300.00 2,300.00 1,500.00
11/30/2018 MCC 12/31/2018 MCC	ADE KRSHNER ADE KRSHNER	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	1,500.00
12/31/2018 MCC 12/31/2018 MCC 1/20/2019 MCC	ADE KRSHNER ADE KRSHNER ADE KRSHNER	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	2,300.00 1,500.00 480.50
1/26/2019 MCC 1/26/2019 MCC 1/31/2019 MCC	ABE KIRSHNER ABE KIRSHNER ABE KIRSHNER	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	2,025.00 3,525.00 1,500.00
1/31/2019 MCC 1/31/2019 MCC 2/38/2019 MCC	AGE KRSHNER AGE KRSHNER AGE KDSHNED	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	3,525.00 1,500.00 2,300.00 2,300.00 1,500.00 2,300.00 2,300.00 2,300.00 2,300.00 2,300.00 2,300.00 2,300.00 2,300.00 2,300.00
2/28/2019 MCC 2/28/2019 MCC	ASE KRSHNER ASE KRSHNER	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	2,300.00
3/31/2019 MCC 3/31/2019 MCC	ABE KRISHNER ABE KRISHNER ABE KRISHNER	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	2,300.00 2,300.00
4/30/2019 MCC 4/30/2019 MCC 4/30/2019 MCC	ABE KRSHNER ABE KRSHNER ABE KRSHNER	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	2,300.00 1,500.00 2,300.00
5/31/2019 MCC 5/31/2019 MCC 5/31/2019 MCC	AGE KRSHNER AGE KRSHNER AGE KDSHNED	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	2,300.00
6/30/2019 MCC 6/30/2019 MCC	AGE KRSHNER AGE KRSHNER	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	1,500.00 2,300.00 2,300.00 1,500.00 787.50 2,300.00 1,500.00
7/13/2019 MCC 7/31/2019 MCC	ADE KRSHNER ADE KRSHNER	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	787.50 2,300.00
7/31/2019 MCC 7/31/2019 MCC 7/31/2019 MCC	ADE KRSHNER ADE KRSHNER ADE KRSHNER	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	2,300.00
8/30/2019 MCC 8/31/2019 MCC 8/31/2019 MCC	ABE KIRSHNER ABE KIRSHNER ABE KIRSHNED	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	25.00 1,500.00 2.300.00
8/31/2019 MCC 8/31/2019 MCC	AGE KRSHNER AGE KRSHNER	DEFENSE OF LIABILITY SUIT DEFENSE OF LIABILITY SUIT	1,500.00 2,300.00
10/31/2019 MCC 10/31/2019 MCC	ASE KRSHNER ASE KRSHNER	PLIGL LITIGATION PLIGL LITIGATION	25.00 1,500.00 2,300.00 1,500.00 2,300.00 2,925.00 1,500.00 1,500.00
3/14/2019 MICH	ASE KHONNEK SAEL HUSSARD	GUARDIANSHIP	1,182.50
	IAEL KLUPCHAK	HRLABOR RELATIONS CONSULTANT	4,025.00
		RETAINER FOR LEGAL CONSULTING LEGAL REGARDING HUD	20,000.00 22,832.55
		REAL ESTATE TAX REDUCTION REFUND OF OVERPAYMENT	65,344.65 (5,912.61)
11/12/2018 RICK	RAMOS	LEGAL FEES	2,587.50
7/31/2019 SATI 11/1/2019 SAXI 11/1/2019 SAXI		LETTERS OF OFFICE FEE COURT CASE COURT CASE	2,100.00 5,417.41 450.00
11/1/2019 SAXI	AW NC	COURT CASE  CLASS ACTION FOR PAYMENT OF ME	
11/1/2018 5822 11/1/2019 5822 1/2/2019 582 1/2/2019 582 21/1/2019 582 21/1/2019 582 31/1/2019 582 41/1/2019 582 41/1/2019 582 51/1/2019 582 51/1/2019 582	NC NC	CLASS ACTION FOR PAYMENT OF ME CLASS ACTION FOR PAYMENT OF ME CLASS ACTION FOR PAYMENT OF ME	500.00 165.67 165.67 500.00 166.67 500.00 165.67 500.00 165.67 500.00
2/1/2019 582 2/1/2019 582 3/1/2019 582	NC NC	CLASS ACTION FOR PAYMENT OF ME CLASS ACTION FOR PAYMENT OF ME CLASS ACTION FOR PAYMENT OF ME	166.67 500.00
3/1/2019 582 4/1/2019 582	NC NC	CLASS ACTION FOR PAYMENT OF ME CLASS ACTION FOR PAYMENT OF ME	500.00 166.67
5/1/2019 582 5/1/2019 582 6/30/2019 582 6/30/2019 582	NC NC	CLASS ACTION FOR PAYMENT OF ME CLASS ACTION FOR PAYMENT OF ME	500.00 166.67 500.00 166.67
6/30/2019 582 7/1/2019 582	NC NC	CLASS ACTION FOR PAYMENT OF ME CLASS ACTION FOR PAYMENT OF ME	166.67
6/30/2019 SB2 7/1/2019 SB2 7/1/2019 SB2 8/1/2019 SB2 8/1/2019 SB2 9/3/2019 SB2 9/3/2019 SB2	NC NC	CLASS ACTION FOR PAYMENT OF ME CLASS ACTION FOR PAYMENT OF ME	500.00 165.67 500.00 165.67 165.67 500.00 166.67 500.00
9/3/2019 582 9/3/2019 582 10/1/2019 582	NC NC	CLASS ACTION FOR PAYMENT OF ME CLASS ACTION FOR PAYMENT OF ME CLASS ACTION FOR PAYMENT OF ME	165.67 500.00 500.00
10/1/2019 582 10/1/2019 582 10/1/2019 582 11/1/2019 582 11/1/2019 582	NC NC	CLASS ACTION FOR PAYMENT OF ME CLASS ACTION FOR PAYMENT OF ME CLASS ACTION FOR PAYMENT OF ME	166.67 500.00 166.67
11/1/2019 582 12/2/2019 582 12/2/2019 582	INC INC	COURT TOME  LASS ACTION FOR INVAININT OF ME LASS ACTION FOR INVAININT OF INVAININT	165.67 505.21 166.67
7/9/2019 SOR 1/31/2019 STO	AH ZEFFREN NE MCGLIRE & SIEGEL	LEGAL FEES COMPLIANCE MEETINGS & EDUCATIC	650.00 700.00
2/28/2019 STOR 3/31/2019 STOR	NE MCGLIRE & SIEGEL NE MCGLIRE & SIEGEL	COMPLIANCE MEETINGS & EDUCATIC COMPLIANCE MEETINGS & EDUCATIC	700.00 700.00
5/31/2019 STOR 6/30/2019 STOR	NE MCGUIRE & SIEGEL NE MCGUIRE & SIEGEL	COMPLIANCE MEETINGS & EDUCATIC COMPLIANCE MEETINGS & EDUCATIC	700.00 700.00
8/31/2019 STOR 9/30/2019 STOR	NE MCGUIRE & SECGEL NE MCGUIRE & SECGEL	COMPLIANCE MEETINGS & EDUCATIC COMPLIANCE MEETINGS & EDUCATIC	700.00 700.00 700.00 700.00 700.00 700.00 700.00 700.00 700.00
11/30/2019 STOR 11/30/2019 STOR 12/31/2019 STOR	WE MOCIAINE & SIDGEL	COMPLIANCE MEETINGS & EDUCATIC	700.00 700.00 700.00
		DEVOLVING LINE LOAN	845.00
10/4/2018 U.S. 10/15/2018 U.S. 1/16/2019 U.S.	LEGAL SUPPORT	COURT REPORTING FEES	190.00 59.50 190.00
4/12/2019 U.S. 5/31/2019 U.S. 6/11/2019 U.S.	LEGAL SUPPORT LEGAL SUPPORT	COURT REPORTING FEES COURT REPORTING FEES	59.50 110.94 10.00
6/11/2019 U.S. 6/18/2019 U.S.	LEGAL SUPPORT LEGAL SUPPORT	COURT REPORTING FEES COURT REPORTING FEES	59.50 190.00 59.50 110.94 10.00 59.50 1,049.55 10.00 249.58
10/31/2019 U.S.	LEGAL SUPPORT	COURT REPORTING FEES	249.58
9/1/2019 VANI 5/21/2019 CHU	IN LORGION II NOLII LLC	GUARDIANSHIP GUARDIANSHIP LEGAL SETTLEMENT	750.00 750.00
5/22/2019 DELJ	VINE WILLIAMS	LEGAL SETTLEMENT	12,750.00
12/20/2018 HEP! 1/8/2019 HEP!	ER BROOM LLC ER BROOM LLC	LEGAL SETTLEMENT LEGAL SETTLEMENT	5,915.70 3,195.50
2/13/2019 HEP! 3/12/2019 HEP! 4/11/2019 HEP!	ER BROOM LLC ER BROOM LLC ER BROOM LLC	LEGAL SETTLEMENT LEGAL SETTLEMENT LEGAL SETTLEMENT LEGAL SETTLEMENT	6,898.00 4,854.85 696.88
5/13/2019 HEPI 7/11/2019 HEPI 9/17/2019 HEPI	LER BROOM LLC	LEGAL SETTLEMENT LEGAL SETTLEMENT LEGAL SETTLEMENT	351.00 1,207.90 45.03
8/22/2019 KATI		LEGAL SETTLEMENT	18,500.00
2/28/2019 LAW 3/31/2019 LAW	OFFICES OF STEVEN J MALMAN OFFICES OF STEVEN J MALMAN	LEGAL SETTLEMENT LEGAL SETTLEMENT	30,000.00 37,529.50
3/19/2019 PEAI	RLENE HOLT & ATTY MARVIN GRAY	LEGAL SETTLEMENT	25,000.00
	LBERGER LAW GROUP MY VISVARDIS & ALLEN N SCHWARTZ,	LEGAL SETTLEMENT	17,000.00 7,097.37
	LLOBEVERLY VEALS	LEGAL SETTLEMENT - GUARDIANSHIP	16,495.43

E00340)

(13)	Have costs for all supplies and services which are of the type that can be billed to the Department, in addition to the daily rate, been properly classified in the Ancillary Section of Schedule V?  YES
(14)	Is a portion of the building used for any function other than long term care services for the patient census listed on page 2, Section B? NO For example, is a portion of the building used for rental, a pharmacy, day care, etc.) If YES, attach a schedule which explains how all related costs were allocated to these functions.
(15)	Indicate the cost of employee meals that has been reclassified to employee benefits on Schedule V. \$ 0 Has any meal income been offset against related costs? N/A Indicate the amount. \$
(16)	Travel and Transportation  a. Are there costs included for out-of-state travel?  If YES, attach a complete explanation.  b. Do you have a separate contract with the Department to provide medical transportation for residents?  NO  If YES, please indicate the amount of income earned from such a program during this reporting period.  c. What percent of all travel expense relates to transportation of nurses and patients?  5%  d. Have vehicle usage logs been maintained?  NO  e. Are all vehicles stored at the nursing home during the night and all other times when not in use?  NO  f. Has the cost for commuting or other personal use of autos been adjusted out of the cost report?  YES  g. Does the facility transport residents to and from day training?  Indicate the amount of income earned from providing such transportation during this reporting period.  \$ N/A
(17)	Has an audit been performed by an independent certified public accounting firm? Nome:
(18)	Have all costs which do not relate to the provision of long term care been adjusted out out of Schedule V?  YES
(19)	Has a schedule for the legal fees reported on the cost report been provided by the facility?  See page 39 of the instructions for details.  YES

Attach invoices and a summary of services for all architect and appraisal fees

**Report Period Beginning:** 

Page 22

**Ending: 12/31/2019** 

1/1/2019

HFS 3745 (N-4-99) IL478-2471

0052035